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	 1-	yky c¡xyk fdl tutkfr ls lacafèkr gS\
	 (a)	 dekj

	 (b)	 cSxk

	 (c)	 Hkqaft;k

	 (d)	 i.Mks

	 2-	pk¡x nsoh dk nsoky; fdl f”kys esa fLFkr gS\
	 (a)	 ljxqtk

	 (b)	 dksfj;k

	 (c)	 lwjtiqj

	 (d)	 cyjkeiqj

	 3-	jkT; ljdkj us xzkeh.k laLÑfr ds laj{k.k ds fy;s fdu 
fnolksa ij lkoZtfud vodk'k ?kksf"kr fd;k gS\

	 (a)	 gjsyh] rht

	 (b)	 dekZ t;arh

	 (c)	 fo'o vkfnoklh fnol

	 (d)	 mijksDr lHkh

	 4-	NÙkhlx<+ esa igyh ckj ̂ jk"Vªh; vkfnoklh u`R; egksRlo* 
dk vk;kstu dc fd;k x;k\

	 (a)	 27 ls 29 vDVwcj] 2019

	 (b)	 29 ls 30 uoEcj] 2019

	 (c)	 27 ls 29 fnlEcj] 2019

	 (d)	 25 ls 28 vDVwcj] 2020

	 5-	xzke x<+csaxky ds ^psUn# e.Mkoh* dks fdl fy;s tkuk 
tkrk gS\ 

	 (a)	 dk"B&dyk dykdkj

	 (b)	 fHkfÙk fp=k dykdkj

	 (c)	 cLrjkapy ls gkWyhoqM dk igyk ghjks

	 (d)	 yksdu`R; dykdkj

	 6-	fuEu dFkuksa dks i<+dj lgh fodYi pqfu, %
	 (i)	 jktekrk iQqyok nsoh dkaxs dk lacaèk çfl¼ 

vkfnoklh O;fDrRo daxyk eka>h ls gSA

	 (ii)	 lar xfgjk xq# dk okLrfod uke egs'oj FkkA

	 (a)	 nksuksa lR; gSa

	 (b)	 nksuksa vlR; gSa

	 (c)	 dsoy (i) lR; gS

	 (d)	 dsoy (ii) lR; gSA

	 7-	fuEufyf[kr dks lqesfyr dhft, %
		  R;kSgkj			   ekg

	 (a)	 vkeql	 &	 (i)	 pSr

	 (b)	 ljgqy	 &	 (ii)	 Dokj

	 (c)	 uok[kkbZ	 &	 (iii)	 lkou

	 (d)	 n'kgjk	 &	 (iv)	 Hkknks

	 1.	 Which tribe is related ot Lal Bangla?
	 (a)	 Kamar
	 (b)	 Baiga
	 (c)	 Bhunjia
	 (d)	 Pando
	 2.	 Shrine of Chang Devi is situated in which district? 
	 (a)	 Surguja
	 (b)	 Koriya
	 (c)	 Surajpur
	 (d)	 Balrampur
	 3.	 On which of the following days the State 

Government declared public holiday for the 
preservation of rural culture?

	 (a)	 Hareli, Teej
	 (b)	 Karma Jayanti
	 (c)	 Vishwa Adivasi Diwas
	 (d)	 All of the above 
	 4.	 When for the first time `Rashtriya Adiwasi Nritya 

Mahotsava' was organized in Chhattisgarh?
	 (a)	 27 to 29 October, 2019
	 (b)	 29 to 30 November, 2019
	 (c)	 27 to 29 December, 2019
	 (d)	 25 to 28 October, 2020
	 5.	 For which reason 'Chendru Mandavi' of village 

Garhbengal is known?
	 (a)	 Artist of Wood-craft
	 (b)	 Artist of Mural Art
	 (c)	 The First hero of Hollywood from Bastar 

region
	 (d)	 Artist of folk dance
	 6.	 Read the following sentences and choose the 

correct option:
	 (i)	 Rajmata Fulwa Devi Kange is related to 

famous tribal personality Kangla Manjhi.
	 (ii)	 The real name of Sant Gahira Guru was 

Maheshwar.
	 (a)	 Both are correct
	 (b)	 Both are incorrect
	 (c)	 Only (i) is correct
	 (d)	 Only (ii ) is correct
	 7.	 Properly match the following:
	 	 Festival			   Month
	 (a)	 Aamus	 -	 (i)	 Chait
	 (b)	 Sarhul	 -	 (ii)	 Kwaar
	 (c)	 Navakhai	 -	 (iii)	 Sawan
	 (d)	 Dussehra	 -	 (iv)	 Bhadon
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	 	 lgh fodYi dk p;u dhft,&
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iv)	 (iii)	 (ii)	 (i)
	 (b)	 (i)	 (ii)	 (iv)	 (iii)

	 (c)	 (iii)	 (i)	 (iv)	 (ii)

	 (d)	 (iii)	 (iv)	 (ii)	 (i)

	 8-	fuEufyf[kr tutkfr;ksa dks muds eq[; fuokl {ks=k 
(f”kyk) ds vuqlkj lqesfyr dhft,%

	 	 tutkfr	 	 eq[; fuokl {ks=k (f”kyk)

	 (a)	 igkM+h dksjok	 &	 (i)	 cykSnkcktkj&HkkVkikjk

	 (b)	 Hkqaft;k	 &	 (ii)	 t'kiqj

	 (c)	 fca>okj	 &	 (iii)	xfj;kcan

	 (d)	 vcw>ekfM+;k	 &	 (iv)	ukjk;.kiqj

	 	 lgh fodYi dk p;u dhft,&
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (iii)	 (iv)	 (ii)

	 (b)	 (iii)	 (i)	 (ii)	 (iv)

	 (c)	 (ii)	 (iii)	 (i)	 (iv)

	 (d)	 (iv)	 (iii)	 (i)	 (ii)

	 9-	fuEu 'kkldksa ds uke muds jktoa'kksa ls lqesfyr dhft,%

		  'kkld			   jktoa'k

	 (a)	 dUgjnso	 &	 (i)	 uy oa'k

	 (b)	 LdanoeZu	 &	 (ii)	 'kjHkiqjh; oa'k

	 (c)	 nqxZjkt	 &	 (iii)	ik.Mq oa'k

	 (d)	 g"kZxqIr	 &	 (iv)	 fNUnd ukx oa'k

	 	 lgh fodYi dk p;u dhft,&
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iv)	 (iii)

	 (b)	 (iv)	 (ii)	 (iii)	 (i)

	 (c)	 (iv)	 (i)	 (ii)	 (iii)

	 (d)	 (ii)	 (iii)	 (iv)	 (i)

	10-	ejkBk lwcsnkjksa ds uke dkyØekuqlkj ltkb,

	 (i)	 ds'ko xksfoan

	 (ii)	 tnqjko (;knojko) fnokdj

	 (iii)	 foêòy fnudj

	 (iv)	 Hkhdk xksiky

	 	 lgh fodYi pqfu,&

	 (a)	 (iv)] (iii)] (i)] (ii)

	 (b)	 (iii)] (ii)] (iv)] (i)

	 (c)	 (iii)] (i)] (iv)] (ii)

	 (d)	 (ii)] (i)] (iii)] (iv)

		  Choose the right option-
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iv)	 (iii)	 (ii)	 (i)
	 (b)	 (i)	 (ii)	 (iv)	 (iii)

	 (c)	 (iii)	 (i)	 (iv)	 (ii)

	 (d)	 (iii)	 (iv)	 (ii)	 (i)
	 8.	 Match the following Tribes according to their Main 

Area of Residence (District)
		  Tribes		  Main Area of Residence
				    (District)
	 (a)	 Hill Korwa	 -	 (i)	 Balodabazar-Bhatapara
	 (b)	 Bhunjia	 -	 (ii)	 Jashpur
	 (c)	 Binjhwar	 -	 (iii)	 Gariyaband
	 (d)	 Abujhmaria	 -	 (iv)	 Narayanpur
		  Choose the right option-
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (iii)	 (iv)	 (ii)

	 (b)	 (iii)	 (i)	 (ii)	 (iv)

	 (c)	 (ii)	 (iii)	 (i)	 (iv)

	 (d)	 (iv)	 (iii)	 (i)	 (ii)
	 9.	 Match correctly the names of the following Rulers 

with their Dynasties :
	 	 Ruler	 	Dynasty
	 (a)	 Kanhardeva	 -	 (i)	 Nal Vansh
	 (b)	 Skandvarman	 -	 (ii)	 Sharabhpuriya Vansh
	 (c)	 Durgraj	 -	(iii)	 Pandu Vansh
	 (d)	 Harshgupta	 -	(iv)	 Chhindak Nag Vansh
		  Choose the right option-
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iv)	 (iii)

	 (b)	 (iv)	 (ii)	 (iii)	 (i)

	 (c)	 (iv)	 (i)	 (ii)	 (iii)

	 (d)	 (ii)	 (iii)	 (iv)	 (i)
	 10.	 Arrange in chronological order the names of 

Maratha Subedars:
	 (i)	 Keshav Govind
	 (ii)	 Yadurao (Yadavrao) Divakar
	 (iii)	 Vithal Dinkar
	 (iv)	 Bhika Gopal
		  Choose the right option-
	 (a)	 (iv), (iii), (i), (ii)
	 (b)	 (iii), (ii), (iv), (i)
	 (c)	 (iii), (i), (iv), (ii)
	 (d)	 (ii), (i), (iii), (iv)
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	11-	1933 esa xk¡èkhth dks Hkk"k.k nsus ds fy;s vkeaf=kr djus 

okys jktdqekj dkWyst ds çkpk;Z dk uke gS %

	 (a)	 fLeFk fi;lZ

	 (b)	 Vh- ,- LdkWV

	 (c)	 ,p- ,e- ykjh

	 (d)	 ,y- ,l- dSjh

	12-	NÙkhlx<+ ds fuEufyf[kr lekpkj i=kksa dks muds 

lEikndksa ls lqesfyr dhft,%

		  lekpkj&i=k			   lEiknd

	 (a)	 lw;kZsn;	 &	 (i)	 mn; çlkn

	 (b)	 vkyksd	 &	 (ii)	 ;nquanu çlkn

	 (c)	 çdk'k	 &	 (iii)	 dUgS;kyky oekZ

	 (d)	 gSg;oa'k	 &	 (iv)	 ds'ko çlkn oekZ

	 	 lgh fodYi pqfu, %
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (i)	 (ii)	 (iv)
	 (b)	 (iv)	 (ii)	 (iii)	 (i)

	 (c)	 (iv)	 (iii)	 (i)	 (ii)

	 (d)	 (iii)	 (iv)	 (ii)	 (i)

	13-	Hkkjr NksM+ks vkUnksyu ds dky esa 9 vxLr] 1942 dks 

fxjÝrkj fd, x, usrkvksa dks muds LFkku ls lqesfyr 

dhft,%

		  usrk			   LFkku

	 (a)	 ;kdwc vyh	 &	 (i)	 nqxZ

	 (b)	 gjukjk;.k cktis;h	 &	 (ii)	 jk;iqj

	 (c)	 y{e.kflag ns'keq[k	 &	 (ii)	 csesrjk

	 (d)	 oh- okbZ- rkeLdj	 &	 (iv)	 fcykliqj

	 	 lgh fodYi pqfu,&
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (ii)	 (i)	 (iii)	 (iv)
	 (b)	 (i)	 (ii)	 (iv)	 (iii)

	 (c)	 (ii)	 (iv)	 (i)	 (iii)

	 (d)	 (iv)	 (ii)	 (i)	 (iii)

	14-	¶HkkSxksfyd ifjfLFkfr] lkekftd O;oLFkk] Hkwfe dh 

O;oLFkk ds dkj.k NÙkhlx<+ esa tehankjksa dk vfLrRo 

uSlfxZd o vfuok;Z jgkA¸ ;g dFku fdldk gS\

	 (a)	 fe- tsfUdUl

	 (b)	 fjpMZ VsEiy

	 (c)	 fe- fp'ke

	 (d)	 fe- ,XU;w

	 11.	 Name of the Principal of Rajkumar College who 
invited Gandhiji to deliver a speech in 1933 is :

	 (a)	 Smith Piers

	 (b)	 T. A. Scott

	 (c)	 H. M. Larri

	 (d)	 L. S. Carry

	 12.	 Match correctly the following Newspapers of 
Chhattisgarh with their Editors:

		  Newspaper		  Editor

	 (a)	 Suryoday	 (i)	 Uday Prasad

	 (b)	 Alok	 (ii)	 Yadunandan Prasad

	 (c)	 Prakash	 (iii)	 Kanhaiyalal Verma

	 (d)	 Haihaivansh	 (iv)	 Keshav Prasad Verma

		  Choose the right option:
		  (a)	 (b)	 (c)	 (d)

	 (a)	 (iii)	 (i)	 (ii)	 (iv)

	 (b)	 (iv)	 (ii)	 (iii)	 (i)

	 (c)	 (iv)	 (iii)	 (i)	 (ii)

	 (d)	 (iii)	 (iv)	 (ii)	 (i)

	 13.	 Match correctly the leaders who were arrested 
during the Quit India Movement on 9th August, 
1942 with their places:

		  Leaders		  Place

	 (a)	 Yakub Ali	 (i)	 Durg

	 (b)	 Harnarayan Bajpai	 (ii)	 Raipur

	 (c)	 Laxmansingh Deshmukh	 (iii)	 Bemetara

	 (d)	 V. Y. Tamaskar	 (iv)	 Bilaspur

		  Choose the right option-
		  (a)	 (b)	 (c)	 (d)

	 (a)	 (ii)	 (i)	 (iii)	 (iv)

	 (b)	 (i)	 (ii)	 (iv)	 (iii)

	 (c)	 (ii)	 (iv)	 (i)	 (iii)

	 (d)	 (iv)	 (ii)	 (i)	 (iii)

	 14.	 “Due to geographical situation, social system, 
arrangement of land, the existence of Zamindars 
in Chhattisgarh remained natural and inevitable." 
Whose statement is this?

	 (a)	 Mr. Jenkins

	 (b)	 Richard Temple

	 (c)	 Mr. Chishom

	 (d)	 Mr. Agnew
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	15-	f}rh; lfou; voKk vkanksyu esa tqywl dk usr`Ro djrs 
gq, Mk- jkèkkckbZ dks dc fxjÝrkj fd;k x;k \

	 (a)	 12 iQjojh] 1932

	 (b)	 16 ekpZ] 1932

	 (c)	 19 vçSy] 1932

	 (d)	 13 twu] 1932

	16-	fuEufyf[kr esa ls dkSu jktukanxk¡o ds jk"Vªh; fo|ky; 
dh LFkkiuk ls lacafèkr ugha gS\

	 (a)	 jktwyky 'kekZ

	 (b)	 inqeyky iqUukyky c['kh

	 (c)	 Bkdqj I;kjsyky flag

	 (d)	 cynso çlkn feJ

	17-	NÙkhlx<+ vkfFkZd loZs{k.k] 2020&2021 esa NÙkhlx<+ 
dk ldy ?kjsyw mRikn vuqekfur gS%

		  {ks=k			   o`f¼ nj

	 (a)	 Ñf"k	 &	 (i)	 0-75»

	 (b)	 laok	 &	 (ii)	 4-61»

	 (c)	 m|ksx	 &	 (iii)	 &5-28»

	 	 lqesfyr dhft,&
		  (a)	 (b)	 (c)
	 (a)	 (i)	 (ii)	 (iii)
	 (b)	 (i)	 (iii)	 (ii)
	 (c)	 (ii)	 (iii)	 (i)
	 (d)	 (iii)	 (ii)	 (i)
	 18-	NÙkhlx<+ esa çokfgr ^cukl unh* ds laca/ esa fuEu 

dFkuksa dks i<+dj lgh fodYi pqusa % 
	 (i)	 bldk mn~xe ek¡>kVksyh dh igkM+h ls gksrk gS

	 (ii)	 bl unh ij dksVjh tyçikr vofLFkr gS

	 (iii)	 ;g xzke MsEHkk ds ikl lksu unh esa fey tkrh 
gSA

	 mijksDr esa ls dkSu&lk dFku lgh gS \

	 (a)	 (i) vkSj (ii)
	 (b)	 (ii) vkSj (iii)
	 (c)	 (i) vkSj (iii)
	 (d)	 (i)] (ii) vkSj (iii)
	19-	jkT; esa pfpZr LFky lqesfyr dhft,-
	 (a)	 VekVj dh jktèkkuh	 (i)	 jktukanxk¡o

	 (b)	 pkoy vuqlaèkku laLFkku	 (ii)	 ywMsax

	 (c)	 fdlku 'kkWfiax ekWy	 (iii)	 cLrj

	 (d)	 dkslk vuqlaèkku dsanz	 (iv)	 ykHkkaMh
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (ii)	 (iv)	 (i)	 (iii)
	 (c)	 (i)	 (ii)	 (iv)	 (iii)
	 (d)	 (ii)	 (v)	 (iii)	 (iv)

	 15.	 When was Dr. Radhabai arrested while leading 
procession in the Second Civil Disobedience 
Movement?

	 (a)	 12 February, 1932
	 (b)	 16 March, 1932
	 (c)	 19 April, 1932
	 (d)	 13 June, 1932
	 16.	 Who among the following is not associated with 

the establishment of National Vidyalaya of 
Rajnandgaon?

	 (a)	 Rajulal Sharma
	 (b)	 Padumlal Punnalal Bakhshi
	 (c)	 Thakur Pyarelal Singh
	 (d)	 Baldev Prasad Mishra
	 17.	 The GDP of Chhattisgarh estimated in the 

Economic Survey, 2020-2021 of Chhattisgarh is:
		  Area		  Growth Rate
	 (a)	 Agriculture	 (i)	 0.75%
	 (b)	 Service	 (ii)	 4.61%
	 (c)	 Industry	 (iii)	 -5.28%
		  Match correctly-
		  (a)	 (b)	 (c)
	 (a)	 (i)	 (ii)	 (iii)
	 (b)	 (i)	 (iii)	 (ii)
	 (c)	 (ii)	 (iii)	 (i)
	 (d)	 (iii)	 (ii)	 (i)
	 18.	 Read the following statements related to 'Banas 

river' flowing in Chhattisgarh and choose the 
correct option:

	 (i)	 It originates from mountains of Manjhatoli
	 (ii)	 Kotari waterfall is situated on this river
	 (iii)	 It joins Son river near village Dembha
		  Which of the above statements are true?
	 (a)	 (i) and (ii)
	 (b)	 (ii) and (iii)
	 (c)	 (i) and (iii)
	 (d)	 (i), (ii) and (iii)
	 19.	 Match correctly the famous places in the state :
	 (a)	 Tomato Capital	 (i)	 Rajnandgaon
	 (b)	 Rice Research Institute	 (ii)	 Ludeng
	 (c)	 Kishan Shopping Mall	 (iii)	 Bastar
	 (d)	 Kosa Research Center	 (iv)	 Labhandi
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (ii)	 (iv)	 (i)	 (iii)

	 (c)	 (i)	 (ii)	 (iv)	 (iii)

	 (d)	 (ii)	 (v)	 (iii)	 (iv)
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	20-	dFku (A) % o"kZ 2017&18 esa Ñf"k o`f¼ cgqr de 
(&10-90») ntZ dh xbZA

	 	dkj.k (R)% 2017&18 esa dbZ tuin lw[ks dh leL;k 
ls tw> jgs FksA

	 (a)	 nksuksa dFku (A) ,oa dkj.k (R) lR; gSaA dFku 
(A) dkj.k (R) dks Li"V djrk gS

	 (b)	 nksuksa dFku (A) ,oa dkj.k (R) lR; gSaA dFku 
(A) dkj.k (R) dks Li"V ugha djrk gS

	 (c)	 dFku (A) vkSj dkj.k (R) nksuksa lR; ugha gSa

	 (d)	 mijksDr esa ls dksbZ ugha

	21-	foi.ku o"kZ] 2019&20 esa Øe'k% fdl f”kys esa lokZfèkd 
o lcls de èkku [kjhnh dh xbZ (Ñf"k foHkkx ds 
vuqlkj)\

	 (a)	 tkatxhj&pkaik] narsokMk

	 (b)	 fcykliqj] narsokMk

	 (c)	 tkatxhj&pkaik] ukjk;.kiqj

	 (d)	 èkerjh] ukjk;.kiqj

	22-	eVklh feV~Vh ds ckjs esa dkSu&lk dFku lgh ugha gS
	 (a)	 ;g feV~Vh vfèkdka'kr% HkkVk feV~Vh dh vis{kk 

vfèkd rFkk dUgkj feV~Vh dh vis{kk de Å¡pkbZ 
ij ikbZ tkrh gS

	 (b)	 ;g feV~Vh dUgkj feV~Vh ls de mitkÅ gksrh gS

	 (c)	 bl feV~Vh esa yksgs dh ek=kk vfèkd gksrh gS

	 (d)	 bl feV~Vh esa jsr dh ek=kk vfèkd gksrh gSA

	23-	fuEufyf[kr dFkuksa dks è;kuiwoZd if<+, vkSj lgh mÙkj 
pqfu,%

	 (i)	 NÙkhlx<+ jkT; esa yxHkx 37-46 yk[k Ñ"kd 
ifjokj gSaA

	 (ii)	 NÙkhlx<+ jkT; ds GSDP esa lokZfèkd ;ksxnku 
Ñf"k {ks=k dk gSA

	 (iii)	 NÙkhlx<+ jkT; esa Ñf"k dks çkFkfed {ks=k ds 
varxZr j[kk x;k gSA

	 dkSu&lk@dkSu&ls dFku lgh gS@gSa\

	 (a)	 dsoy (i) ,oa (ii)

	 (c)	 dsoy (i) ,oa (iii)

	 (b)	 dsoy (ii) ,oa (iii)

	 (d)	 dsoy (i)

	24-	fuEufyf[kr esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\
	 (i)	 lkrokgu oa'k dh 'kfDr {kh.k gksus ds ckn 

okdkVd oa'k us viuk jkT; LFkkfir fd;k

	 (ii)	 okdkVd oa'k dk igyk jktk çoj lsu (çFke) 
gqvk

	 (iii)	 foaè; 'kfDr çoj lsu dk iq=k Fkk

	 20.	 Statement (A) : Very little agricultural growth 
(-10.90% ) was recorded in the year 2017-18

		  Cause (R) : Many Districts were facing the 
problem of drought in 2017-18.

	 (a)	 Statement (A) and Cause (R) both are true. 
Statement (A) explains the Cause (R)

	 (b)	 Statement (A) and Cause (R) both are true. 
Statement (A) does not explain the Cause 
(R)

	 (c)	 Statement (A) and Cause (R) both are not 
true

	 (d)	 None of the above
	 21.	 In which district respectively the maximum and 

minimum paddy was procured in the marketing 
year 2019-2020 (according to Agriculture 
Department ) ?

	 (a)	 Janjgir-Champa, Dantewad
	 (b)	 Bilaspur, Dantewada
	 (c)	 Janjgir-Champa, Narayanpur
	 (d)	 Dhamtari, Narayanpur
	 22.	 Which of the following statements is not true about 

Matasi soil?
	 (a)	 This soil is usually found at altitude higher 

than that of Bhata soil and lower than that 
of Kanhar soil fhitaa

	 (b)	 This soil is less fertile than Kanhar soil
	 (c)	 Iron content is high in this soil
	 (d)	 Sand content is high in this soils
	 23.	 Read the following statements carefully and choose 

the correct answer:
	 (i)	 There are about 37.46 lakh farming families 

in the Chhattisgarh State.
	 (ii)	 Agriculture sector has the highest 

contribution in GSDP of the Chhattisgarh 
State.

	 (iii)	 Agriculture is kept in primary sector in the 
Chhattisgarh State

		  Which of the statements is / are true ?
	 (a)	 Only (i) and (ii)
	 (b)	 Only (ii) and (ii)
	 (c)	 Only (i) and (iii)
	 (d)	 Only (i) 
	 24.	 Which of the following statements is/are truc?
	 (i)	 After weakening of power of Satavahana 

dynasty, Vakataka dynasty established its 
kingdom

	 (ii)	 First king of Vakataka dynasty was Pravar 
Sen (First)

	 (iii)	 Vindhya Shakti was son of Pravar Sen
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	 lgh fodYi pqusa %

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (ii)

	 (c)	 dsoy (i)

	 (d)	 mijksDr esa ls dksbZ ugha

	25-	NÙkhlx<+ ds èkku dh fdl fdLe dks lu~ 2021 esa 
HkkSxksfyd ladsrd (th-vkbZ- VSx) çnku fd;k x;k gS\

	 (a)	 ckn'kkg Hkksx

	 (b)	 nwcjkt

	 (c)	 thjkiQwy

	 (d)	 r#.k Hkksx

	26-	uxjh; LFkkuh; fudk;ksa ij jkT; 'kklu }kjk fu;a=k.k 
fd;k tkrk gS

	 (a)	 foèkk;h ekeyksa esa

	 (b)	 foÙkh; ekeyksa esa

	 (c)	 dkfeZd ekeyksa esa

	 (d)	 ukxfjdksa dh f'kdk;rksa ds lacaèk esa

	 uhps fn, x, dwV esa ls lgh mÙkj dk p;u dhft,&

	 (a)	 (a) vkSj (b)

	 (c)	 (b)] (c) vkSj (d)

	 (b)	 (b) vkSj (c)

	 (d)	 (a)] (b) vkSj (c)

	27-	uhps nks oDrO; fn, x, gSaA ,d dks dFku (A) vkSj 
nwljs dks dkj.k (R) dgk x;k gS %

	 	dFku (A)% uxj fuxe ,d fuf'pr {ks=k rFkk tula[;k 
okys cM+s uxjksa esa xfBr fd, tkrs gSaA

	 	dkj.k (R)% cM+s uxjksa dk uxjh; ç'kklu vR;ar tfVy 
çÑfr dk gksrk gSA

	 	mi;ZqDr nks oDrO;ksa ds lanHkZ esa fuEufyf[kr esa ls 
dkSu&lk lgh gS \

	 (a)	 nksuksa dFku (A) rFkk dkj.k (R) lgh gSa rFkk 
dFku (A) dk lgh Li"Vhdj.k dkj.k (R) gS

	 (b)	 nksuksa dFku (A) rFkk dkj.k (R) lgh gSa ijarqq 
dFku (A) dk lgh Li"Vhdj.k dkj.k (R) ugha gSA

	 (c)	 dFku (A) lgh gS ijarqq dkj.k (R) xyr gS

	 (d)	 dFku (A) xyr ijarqq dkj.k (R) lgh gS

	28-	lafoèkku ds 74ok¡ la'kksèku vfèkfu;e] 1992 esa fuEu 
esa ls fdldk çkoèkku fd;k x;k gS\

	 (i)	 uxjikfydk lfefr;k¡

	 (ii)	 okMZ lfefr;k¡

	 (iii)	 egkuxj vk;kstuk lfefr

	 (iv)	 f”kyk vk;kstuk lfefr

		  Choose the correct option
	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 Only (1)
	 (d)	 None of the above
	 25.	 Which variety of paddy of Chhattisgarh has been 

granted the Geographical Index Tag (G.I. Tag) ?
	 (a)	 Badshah Bhog
	 (b)	 Dubraj
	 (c)	 Jeeraphool
	 (d)	 Tarun Bhog
	 26.	 The State Government controls over urban local 

bodies :
	 (a)	 in legislative matters
	 (b)	 in financial matters
	 (c)	 in personnel matters
	 (d)	 in respect of citizens' grievances
		  Select the correct answer from the codes given 

below-
	 (a)	 (a) and (b)
	 (b)	 (b) and (c)
	 (c)	 (b), (c) and (d)
	 (d)	 (a), (b) and (c)
	 27.	 In the following questions, there are two statements. 

One is labelled as Assertion (A) and other is 
labelled as Reason (R) :

		  Assertion (A): Municipal corporations are formed 
in big cities having a definite area and population.

		  Reason (R): Urban administrations of big cities 
are very complex in nature.

		  In the context of the above two statements which 
of the following is correct?

	 (a)	 Both Assertion (A) and Reason (R) are true 
and Reason (R) is correct explanation of 
Assertion (A)

	 (b)	 Both Assertion (A) and Reason (R) are true 
but Reason (R) is not correct explanation of 
Assertion (A)

	 (c)	 Assertion (A) is true but Reason (R) is false
	 (d)	 Assertion (A) is false but Reason (R) is true
	 28.	 Which of the following has been provided in the 

74th Amendment Act, 1992 of the Constitution?
	 (i)	 Municipal Committees
	 (ii)	 Ward Committees
	 (iii)	 Metropolitan Planning Committee
	 (iv)	 District Planning Committee
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uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,&

	 (a)	 (i) vkSj (iv)
	 (b)	 (i)] (ii)] (iii) vkSj (iv)
	 (c)	 (i)] (ii) vkSj (iv)
	 (d)	 (ii)] (iii) vkSj (iv)
	29-	jkT; foèkkf;dk ls lacafèkr vuqPNsnksa dks lqesfyr dhft,%
	 (a)	 jkT;ksa esa foèkkf;dk	 (i)	 vuqPNsn 178

	 	 dk xBu

	 (b)	 foèkku lHkk esa vè;{k	 (ii)	 vuqPNsn 199

	 	 rFkk mikè;{k

	 (c)	 lnL;ksa ds osru&HkÙks	 (iii)	 vuqPNsn 168

	 (d)	 ^foÙk foèks;d* 	 (iv)	 vuqPNsn 195

	 	 dh ifjHkk"kk

	30-	fuEufyf[kr esa ls dkSu&lk@ dkSu&ls ;qXe lgh lqesfyr 
gSa@gSa\

	 (a)	 iapk;r lkaf[;dh	 &	 oh- vkj- jko

	 	 ;qfDrdj.k

	 (b)	 iapk;r jkt çf'k{k.k	 &	 ,- ,l- f=kosnh

	 (c)	 iapk;r vkSj lgdkjh	 &	 ,l- Mh- feJk

	 	 ds lacaèk esa dk;Z lewg

	 (d)	 xzkeh.k fodkl ,oa xjhch	&	 th- ds- oh- jko

	 	 mUewyu dk;ZØeksa ds fy;s

	 	 ç'kklfud O;oLFkk
	 dwV %

	 (a)	 (a)] (c) vkSj (d)
	 (b)	 dsoy (b)
	 (c)	 (a)] (b) vkSj (c)
	 (d)	 (a) vkSj (b)
	31-	uhps nks oDrO; fn, x, gSaA ,d dks dFku (A) vkSj 

nwljs dks dkj.k (R) dgk x;k gS
		 dFku (A)% f”kyk U;k;kèkh'k f”kys dk lcls cM+k 

U;kf;d vfèkdkjh gksrk gSA
		 dkj.k (R)% f”kyk U;k;kèkh'k ds ikl U;kf;d ,oa 

ç'kklfud nksuksa çdkj dh 'kfDr;k¡ gksrh gSaA muds ikl 
f”kys ds vU; lHkh vèkhuLFk U;k;ky;ksa ds Åij i;Zos{kh 
'kfDr Hkh gksrh gSA

	 	mi;ZqDr nks oDrO;ksa ds lanHkZ esa fuEufyf[kr esa ls 
dkSu&lk lgh gS\

	 (a)	 nksuksa dFku (A) rFkk dkj.k (R) lgh gSa rFkk 
dFku (A) dk lgh Li"Vhdj.k dkj.k (R) gS

	 (b)	 nksuksa dFku (A) rFkk dkj.k (R) lgh gSa rFkk 
dFku (A) dk lgh Li"Vhdj.k dkj.k (R) ugha gS

	 (c)	 dFku (A) lgh gS ijarqq dkj.k (R) xyr gS
	 (d)	 dFku (A) xyr gS ijarqq dkj.k (R) lgh gS

		  Select the correct answer from the codes given 
below-

	 (a)	 (i) and (iv)
	 (b)	 (i), (ii), (iii) and (iv)
	 (c)	 (i), (ii) and (iv)
	 (d)	 (ii), (iii) and (iv)
	 29.	 Match the articles related to State
	 (a)	 Constitution of	 (i)	 Article 178
		  legislature in States
	 (b)	 The Speaker and Deputy	 (ii)	 Article 199
		  Speaker of the Legislative
		  Assembly
	 (c)	 Salaries and allowances	 (iii)	 Article 168
		  of members
	 (d)	 Definition of 'Money Bills'	 (iv)	 Article 195
	 30.	 Which of the following pairs is/are correctly 

matched?
	 (a)	 Rationalisation of	 -	 V. R. Rao
		  Panchayat Statistics
	 (b)	 Panchayat Raj Training	 -	 A. S. Trivedi
	 (c)	 Working Group on	 -	 S. D. Mishra
		  Panchayats and
		  Co-operative
	 (d)	 Administrative	 -	 G.K. V. Rao
	 	 Arrangement for Rural
		  Development and Poverty
		  Alleviation Programmes
		  Code :
	 (a)	 (a), (c) and (d)
	 (b)	 Only (b)
	 (c)	 (a), (b) and (c)
	 (d)	 (a) and (b)
	 31.	 In the following questions, there are two statements. 

One is labelled as Assertion (A) and other is 
labelled as Reason (R) :

		  Assertion (A): The District Judge is the highest 
judicial authority in the district.

		  Reason (R): The District Judge has both judicial 
and administrative powers. He has also supervisory 
powers over all the subordinate courts in the 
district.

		  In the context of the above two statements which 
of the following is correct?

	 (a)	 Both Assertion (A) and Reason (R) are true 
and Reason (R) is correct explanation of 
Assertion (A)

	 (b)	 Both Assertion (A) and Reason (R) are true 
but Reason (R) is not correct explanation of 
Assertion (A)

	 (c)	 Assertion (A) is true but Reason (R) is false
	 (d)	 Assertion (A) is false but Reason (R) is true
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	32-	jkT; 'kklu ds dk;ks± dh çfØ;k ds fl¼karksa dk fuekZ.k 

djus okyh çeq[k 'kfDr gS %

	 (a)	 ;kstuk vk;ksx

	 (b)	 ea=kh

	 (c)	 eq[;ea=kh

	 (d)	 lfpoky;

	33-	uhps nks oDrO; fn, x, gSaA ,d dks dFku (A) vkSj 

nwljs dks dkj.k (R) dgk x;k gS %

	 	dFku (A)% U;k;ky; eaf=k;ksa }kjk jkT;iky dks nh xbZ 

lykg dh leh{kk ugha dj ldrk gSA

	 	dkj.k (R)% Hkkjrh; lafoèkku esa jkT;ksa ds eaf=k;ksa ds 

fy;s fofèkd mÙkjnkf;Ro ugha gSA

	 	mi;ZqDr nks oDrO;ksa ds lanHkZ esa fuEufyf[kr esa ls 

dkSu&lk lgh gS\

	 (a)	 nksuksa dFku (A) rFkk dkj.k (R) lgh gSa rFkk 
dFku (A) dk lgh Li"Vhdj.k dkj.k (R) gS

	 (b)	 nksuksa dFku (A) rFkk dkj.k (R) lgh gSa ijarqq 
dFku (A) dk lgh Li"Vhdj.k dkj.k (R) ugha gS

	 (c)	 dFku (A) lgh gS ijarqq dkj.k (R) xyr gS

	 (d)	 dFku (A) xyr gS ijarqq dkj.k (R) lgh gS

	34-	Nqjh dh igkfM+;ksa dk vfèkdka'k Hkkx fdl f”kys esa 

forfjr gS\

	 (a)	 dksjck

	 (b)	 eqaxsyh

	 (c)	 fcykliqj

	 (d)	 dchjèkke

	35-	ik¡posa jk"Vªh; ifjokj ,oa LokLF; loZs{k.k 2019&21 ds 

vuqlkj NÙkhlx<+ esa ldy çtuurk (TFR) fuEu esa 
ls fdruh gS \

	 (a)	 1-8

	 (b)	 2-0

	 (c)	 2-2

	 (d)	 2-4

	36-	fuEufyf[kr iqjkrkfRod LFkyksa esa egkunh ds rV ij 

fLFkr fdl LFky ij ckS¼] fgUnw vkSj tSu efUnjksa@eBksa 

ds Lekjd gSa\

	 (a)	 f'kojhukjk;.k

	 (b)	 jkfte

	 (c)	 fljiqj

	 (d)	 pEikj.;

	 32.	 The main force forming the principles of the 
procedure for the work of State Government is :

	 (a)	 Planning Commission
	 (b)	 Minister
	 (c)	 Chief Minister
	 (d)	 Secretariat
	 33.	 In the following questions, there are two statements. 

One is labelled as Assertion (A) and other is 
labelled as Reason (R) :

		  Assertion (A): The courts are barred from 
enquiring into the advice rendered by the ministers 
to the Governor.

		  Reason (R): There is no provision in the Indian 
Constitution for the system of legal responsibility 
of the ministers in the States.

		  In the context of the above two statements which 
of the following is correct?

	 (a)	 Both Assertion (A) and Reason (R) are true 
and Reason (R) is correct explanation of 
Assertion (A)

	 (b)	 Both Assertion (A) and Reason (R) are true 
but Reason (R) is not correct explanation of 
Assertion (A)

	 (c)	 Assertion (A) is true but Reason (R) is false
	 (d)	 Assertion (A) is false but Reason (R) is true
	 34.	 In which district, the major portion of the Chhuri 

hills is distributed?
	 (a)	 Korba
	 (b)	 Mungeli
	 (c)	 Bilaspur
	 (d)	 Kabirdham
	 35.	 What is total fertility rate (TFR) in Chhattisgarh 

as per Fifth National Family Health Survey, 2019-
21?

	 (a)	 1.8
	 (b)	 2.0
	 (c)	 2.2
	 (d)	 2.4
	 36.	 Which of the following archaeological sites is 

located on the bank of river Mahanadi and has 
temples/monuments of Buddhism, Hinduism and 
Jainism?

	 (a)	 Shivrinarayan
	 (c)	 Sirpur
	 (b)	 Rajim
	 (d)	 Champaranya
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	37-	eyxsj unh dk mn~xe LFky dgk¡ gS\

	 (a)	 cSykMhyk igkM+h

	 (b)	 vcq>ekM+ igkM+h

	 (c)	 ds'kdky ?kkVh

	 (d)	 >hje ?kkVh

	38-	fuEufyf[kr lhesaV dkj[kkus çns'k ds fdl rglhy esa 

fLFkr gSa\ lqesfyr dhft,%

	 (a)	 Jh lhesaV	 (i)	 vfgokjk

	 (b)	 vYVªkVsd	 (ii)	 frYnk

	 (c)	 ts- ds- y{eh	 (iii)	 flexk

	 (d)	 lsUpqjh lhesaV	 (iv)	 cykSnkcktkj
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iv)	 (iii)	 (ii)	 (i)
	 (b)	 (iv)	 (iii)	 (i)	 (ii)

	 (c)	 (i)	 (ii)	 (iv)	 (iii)

	 (d)	 (i)	 (ii)	 (iii)	 (iv)

	39-	NÙkhlx<+ esa [kfut Hk.Mkj ,oa {ks=k dks lqesfyr dhft,%

		  [kfut Hk.Mkj		 {ks=k

	 (a)	 ghjk	 (i)	 ykVkikjk

	 (b)	 pwuk iRFkj	 (ii)	tkxM+k

	 (c)	 eSaxuht	 (iii)	>hiu

	 (d)	 xkjusVwing	 (iv)	ijlksyh
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iv)	 (iii)	 (ii)	 (i)
	 (b)	 (iv)	 (iii)	 (i)	 (ii)

	 (c)	 (i)	 (ii)	 (iv)	 (iii)

	 (d)	 (i)	 (ii)	 (iii)	 (iv)

	40-	lwph&I esa fn, x, unh dks lwph&II esa fn, x, mn~xe 
LFky ls lqesfyr dhft,%

		  lwph&I	 	lwph&II

		  (unh)		 (mn~xe LFky)

	 (a)	 ekaM	 (i)	ywMsax igkM+h

	 (b)	 cukl	 (ii)	lksucsjk iBkj

	 (c)	 tksad	 (iii)	nsox<+ igkM+h

	 (d)	 dsyks	 (iv)	eSuikV
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (i)	 (iv)	 (ii)
	 (b)	 (iv)	 (iii)	 (ii)	 (i)

	 (c)	 (ii)	 (iii)	 (i)	 (iv)

	 (d)	 (i)	 (ii)	 (iv)	 (iii)

	 37.	 Where is origin place of Malger river?
	 (a)	 Bailadila hills
	 (b)	 Abujhmar hills
	 (c)	 Keshkal valley
	 (d)	 Jhiram valley
	 38.	 The following cement factories are situated in 

which Tahsil of State? Correctly match :
	 (a)	 Shree Cement	 (i)	 Ahiwara
	 (b)	 Ultratech	 (ii)	 Tilda
	 (c)	 J. K. Laxmi	 (iii)	 Simga
	 (d)	 Century Cement	 (iv)	 Balodabazar
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iv)	 (iii)	 (ii)	 (i)
	 (b)	 (iv)	 (iii)	 (i)	 (ii)

	 (c)	 (i)	 (ii)	 (iv)	 (iii)

	 (d)	 (i)	 (ii)	 (iii)	 (iv)
	 39.	 Match the mineral deposits and areas found in 

Chhattisgarh:
		  Mineral Deposit		  Area
	 (a)	 Diamond	 (i)	 Latapara
	 (b)	 Limestone	 (ii)	 Jangda
	 (c)	 Manganese	 (iii)	 Jhipan
	 (d)	 Garnet	 (iv)	 Parsoli
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iv)	 (iii)	 (ii)	 (i)
	 (b)	 (iv)	 (iii)	 (i)	 (ii)

	 (c)	 (i)	 (ii)	 (iv)	 (iii)

	 (d)	 (i)	 (ii)	 (iii)	 (iv)
	 40.	 Match the following river given List-I with the 

place of origin given in List-II :
		  List-I		  List-II
		  (River)		  (Place of Origin)
	 (a)	 Mand	 (i)	 Ludeng hills
	 (b)	 Banas	 (ii)	 Sonbera plateau
	 (c)	 Jonk	 (iii)	 Devgarh hills
	 (d)	 Kelo	 (iv)	 Mainpat
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (i)	 (iv)	 (ii)
	 (b)	 (iv)	 (iii)	 (ii)	 (i)

	 (c)	 (ii)	 (iii)	 (i)	 (iv)

	 (d)	 (i)	 (ii)	 (iv)	 (iii)



11

	41-	fuEufyf[kr ^tumyk* dk mÙkj crkb,%

	 	¶fcuk ia[k ds lqouk] mfM+ pyr vdklA

	 	:i jax budsa ugha] ejS u Hkw[k fi;klAA¸

	 (a)	 irax

	 (b)	 iou

	 (c)	 vkRek@thokRek

	 (d)	 lwjt

	42-	çLrqr ^gkuk* fdl vFkZ esa cksyk tkrk gS\

	 	lgh mÙkj fy[ksa %

	 	¶rhu fr[kkj egk fopkj

	 (a)	 rhu yksxksa ls iwNuk

	 (b)	 iQSlys dks Vky nsuk

	 (c)	 vafre fu.kZ;

	 (d)	 lger gksuk

	43-	çLrqr ^gkuk* fdl ckr dk ladsr gS\

	 	lgh mÙkj fy[ksa %

	 	¶iQqVgk dje ds iQqVgk nksuk]

	 	ist x¡okxs pkjksa dksukA¸

	 (a)	 fu%'kDr gksuk

	 (b)	 vHkkxs dks lgkjk u feyuk

	 (c)	 ykijokg gksuk

	 (d)	 vaèkk gksuk

	44-	D;k gks ldrk gS\ bl ^tumyk* dks tkusa vkSj lgh 
mÙkj dks fpfÉr djsa %&

	 	¶,d gfM+;k] ts ek nq jax ds ikuhA¸

	 (a)	 ukfj;y

	 (b)	 csy

	 (c)	 vaMk

	 (d)	 buesa ls dksbZ ugha

	 45-	fuEu dkO;ka'k fdl xkFkk ls m¼`r gS\

	 	¶cM+ lbrkèkkjh y{keu trh tksxh

	 	ckjk cjl tksx djs js HkkbZ

	 	lkr nksgjk ds Hkkstu idk ds

	 	fcu tksrs ds tehu ds pkmj

	 	gjh eqaxu ds nkj idkbZ

	 	fcxu fldqu ds irjh cuk ds---¸

	 (a)	 daoyk jkuh

	 (b)	 vfgeu dbuk

	 (c)	 iQqy dq¡oj

	 (d)	 iQqy ckeu

	 41.	 Answer the following ‘Janaula' :

	 	¶fcuk ia[k ds lqouk] mfM+ pyr vdklA

	 	:i jax budsa ugha] ejS u Hkw[k fi;klAA¸

	 (a)	 Kite

	 (b)	 Air

	 (c)	 Soul/Spirit

	 (d)	 Sun

	 42.	 In what sense is the presented 'Hana' spoken?
		  Write the correct answer

	 	¶rhu fr[kkj egk fopkj

	 (a)	 To ask three people

	 (b)	 To defer judgement

	 (c)	 Final decision

	 (d)	 To agree

	 43.	 What does the presented 'Hana' signify? |
		  Write the correct answer :

	 	¶iQqVgk dje ds iQqVgk nksuk]

	 	ist x¡okxs pkjksa dksukA¸

	 (a)	 To be powerless

	 (b)	 a hapless not getting any help

	 (c)	 To be careless

	 (d)	 To be blind

	 44.	 What may be? Understand this 'Janaula' and mark 
the correct answer :

	 (a)	 Coconut

	 (b)	 Wood-apple

	 (c)	 Egg

	 (d)	 None of the above

	 45.	 From which story is the following poem quoted?

	 	¶cM+ lbrkèkkjh y{keu trh tksxh

	 	ckjk cjl tksx djs js HkkbZ

	 	lkr nksgjk ds Hkkstu idk ds

	 	fcu tksrs ds tehu ds pkmj

	 	gjh eqaxu ds nkj idkbZ

	 	fcxu fldqu ds irjh cuk ds---¸

	 (a)	 Kanvala Rani

	 (b)	 Ahiman Kaina

	 (c)	 Phool Kunwar.

	 (d)	 Phool Baman
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	46-	fuEu jpuk fdldh gS\
	 	¶pkjks Mgj loky mxs gs]
	 	ewM+ mpk, djxk dlA
	 	;s yk yw ds liQy fdlugk]
	 	gj tqcku fljtk ysFksAA¸
	 (a)	 jkes'oj oS".ko

	 (b)	 eqdqUn dkS'ky

	 (c)	 lq'khy HkV~V

	 (d)	 MkW- nknwyky tks'kh

	47-	eq[;ea=kh o`{kkjksi.k çksRlkgu ;kstuk ds laca/ esa D;k 
lgh gS@gSa\

	 (i)	 bl ;kstuk dh 'kq#vkr 1 tqykbZ] 2021 ls dh 
xbZ

	 (ii)	 bl ;kstuk ds fØ;kUo;u ds fy;s xfBr jkT; 
Lrjh; vuqJo.k lfefr dk vè;{k çèkku eq[; 
ou laj{kd gksrk gSA

	 (iii)	 bl ;kstuk ds rgr o`{kkjksi.k gsrq gkbZ&Vsd ulZjh 
dh LFkkiuk gsrq dEik (CAMPA) iQaM dk mi;ksx 
fd;k tk ldrk gS

	 (a)	 (i)] (ii) vkSj (iii)
	 (b)	 (i) vkSj (ii)
	 (c)	 (i) vkSj (iii)
	 (d)	 dsoy (iii)
	48-	jkT; vyadj.k iqjLdkj] 2021 ds laca/ esa fuEufyf[kr 

dks lqesfyr dhft, %
	 (a)	 xqaMkèkwj lEeku	 (i)	 dqekjh jksg.kh lkgw

	 (b)	 MkW- [kwcpan	 (ii)	 eqds'k pkSèkjh

	 	 c?ksy lEeku

	 (c)	 'kghn ohjukjk;.k	 (iii)	 tkudh çlkn iqyLr

	 	 flag iqjLdkj

	 (d)	 feuhekrk lEeku	 (iv)	 MkW- dYiuk ns'keq[k
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (iii)	 (ii)	 (iv)
	 (b)	 (i)	 (ii)	 (iv)	 (iii)
	 (c)	 (iv)	 (iii)	 (ii)	 (i)
	 (d)	 (i)	 (ii)	 (iii)	 (iv)
	49-	fuEufyf[kr esa ls dkSu&ls ;qXe lgh lqesfyr ugha gS\ 
		  çeq[k ;kstuk		  lacafèkr foHkkx

	 (i)	 laLdkj vfHk;ku	 &	 LokLF; foHkkx

	 (ii)	 eq[;ea=kh Lokoyacu	 &	 iapk;r ,oa xzkeh.k

	 	 ;kstuk	 	 fodkl foHkkx

	 (iii)	 eq[;ea=kh lqiks"k.k	 &	 efgyk ,oa cky

	 	 vfHk;ku	 	 fodkl foHkkx

	 (iv)	 rhjFk cjr ;kstuk	 &	 uxjh; ç'kklu foHkkx

	 (v)	 lkeF;Z fodkl ;kstuk	&	 Ñf"k foHkkx

	 46.	 Whose composition is the following?
	 	¶pkjks Mgj loky mxs gs]
	 	ewM+ mpk, djxk dlA
	 	;s yk yw ds liQy fdlugk]
	 	gj tqcku fljtk ysFksAA¸
	 (a)	 Rameshwar Vaishnav
	 (b)	 Mukund Kaushal
	 (c)	 Sushil Bhatt
	 (d)	 Dr. Dadulal Joshi
	 47.	 What is /are true about 'Mukhyamantri Vriksharopan 

Protsahan Yojana'?
	 (i)	 This scheme was started on 1st July, 2021
	 (ii)	 Principal Chief Conservator of Forests is the 

Chairman of State Level Monitoring 
Committee formed for the implementation 
of this scheme

	 (iii)	 Under this scheme, for installation of High 
tech Nursery for tree plantation, CAMPA 
fund can be utilized

	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 (i) and (iii)
	 (d)	 Only (iii)
	 48.	 Match the following in reference to Rajya 

Alankaran Purashkar, 2021 :
	 (a)	 Gundadhur	 (i)	 Kumari Rohani
		  Samman		  Sahu
	 (b)	 Dr. Khubchand	 (ii)	 Mukesh Chaudhury
		  Baghel Samman
	 (c)	 Saheed Veer	 (iii)	 Janki Prasad Pulast
	 	 Narayan Singh
		  Award
	 (d)	 Minimata Award	 (iv)	 Dr. Kalpana
				    Deshmukh
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (iii)	 (ii)	 (iv)
	 (b)	 (i)	 (ii)	 (iv)	 (iii)
	 (c)	 (iv)	 (iii)	 (ii)	 (i)
	 (d)	 (i)	 (ii)	 (iii)	 (iv)
	 49.	 Which of the following pairs is not matched 

correctly?
		  Important Scheme		  Related 	

		  Department
	 (i)	 Sanskar Abhiyan	 -	 Health Department
	 (ii)	 Mukhyamantri	 -	 Panchayat and 	

Swavalamban	 	 Rural 	
Yojana		  Development 	
		  Department

	 (iii)	 Mukhyamantri	 -	 Women and Child
		  Suposhan Abhiyan		  Development
				    Department
	 (iv)	 Tirath Barat Yojana	-	 Urban 	

		  Administration 	
		  Department

	 (v)	 Samarthya Vikas	 -	 Agriculture
		  Yojana		  Department
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	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iv)	 (v)	 (i)	 (ii)

	 (c)	 (ii)	 (iii)	 (iv)	 (v)

	 (d)	 (iii)	 (iv)	 (v)	 (i)

	50-	NÙkhlx<+ vkfFkZd loZs{k.k 2020&21 ds vuqlkj 
fuEufyf[kr f”kyksa dks efgykvksa dh lk{kjrk nj ds 
lanHkZ esa ?kVrs Øe esa ltk,¡%

	 (a)	 dksjck > jktukanxk¡o > egkleqan > ukjk;.kiqj

	 (b)	 jktukanxk¡o > dksjck > egkleqan > ukjk;.kiqj

	 (c)	 dksjck > jktukanxk¡o > ukjk;.kiqj > egkleqan

	 (d)	 jktukanxkao > dksjck > ukjk;.kiqj egkleqn

	51-	fuEu dFkuksa dks i<+dj lgh fodYi pqusa
	 	dFku&I % 1907 esa dkaxzsl okf"kZd vfèkos'ku dh 

vè;{krk jkl fcgkjh ?kks"k us dh Fkh
	 	dFku&II % bl vfèkos'ku esa dkaxzsl nks xqVksa (pje iaFkh 

,oa uje iaFkh) esa foHkkftr gks xbZ
	 	dFku&III % 1916 esa okf"kZd vfèkos'ku esa dkaxzsl ds 

nks xqV] pje iaFkh vkSj uje iaFkh dk foy; gks x;kA 
bl vfèkos'ku dh vè;{krk ,l-ih- flUgk us dh

	 (a)	 dFku& I, II, III lHkh lgh gSa

	 (b)	 dFku&I, II, III lHkh xyr gSa

	 (c)	 dFku&I, II lgh gSa fdUrq dFku&III xyr gS

	 (d)	 dFku& I, II xyr gSa fdUrq dFku&III lgh gS

	52-	fuEu dFkuksa dks i<+dj lgh fodYi dk pquko djsa%
	 	dFku&I % vf[ky Hkkjrh; tux.kuk dk çFke ç;kl 

1871 esa fd;k x;k
	 	dFku&II % lu~ 1881 esa n'kdh; tux.kuk ,d fu;fer 

O;oLFkk cu xbZ
	 	dFku&III % 1900 ls 1940 ds chp 40 lkyksa ds 

njfe;ku 'kgjh vkcknh iwjh vkcknh dk 10» ls c<+dj 
18» gks xbZ

	 (a)	 dFku&I, II, III lHkh lgh gSaA

	 (b)	 dsoy dFku&I lgh gS

	 (c)	 dsoy dFku&II lgh gSA

	 (d)	 dsoy dFku&III lgh gS

	53-	jkT; iquxZBu vk;ksx] 1953 ds lanHkZ esa fuEu dFkuksa 
ij fopkj djrs gq, lgh fodYi pqusa%

	 	dFku&I % tfLVl iQty vyh] ds- ,e- ikfuDdj vkSj 
ân;ukFk dqat# blds lnL; Fks

	 	dFku&II % vk;ksx us cEcbZ vkSj iatkc ds foHkktu 
dk leFkZu fd;kA

	 	dFku&III % laln esa ikl jkT; iquxZBu dkuwu] 1956 
ds rgr 14 jkT; rFkk 6 dsanz 'kkflr {ks=k cuk, x,

	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iv)	 (v)	 (i)	 (ii)
	 (c)	 (ii)	 (iii)	 (iv)	 (v)
	 (d)	 (iii)	 (iv)	 (v)	 (i)
	 50.	 As per Chhattisgarh Economic Survey, 2020-21, 

arrange the following districts in decreasing order 
of Literacy Ratio of female:

	 (a)	 Korba > Rajnandgaon > Mahasamund > 
Narayanpur

	 (b)	 Rajnandgaon > Korba > Mahasamund > 
Narayanpur

	 (c)	 Korba > Rajnandgaon > Narayanpur > 
Mahasamund

	 (d)	 Rajnandgaon > Korba > Narayanpur > 
Mahasamund

	 51.	 Choose the correct option after reading following 
statements :

		  Statement-I : In 1907, Congress's Annual Session 
was presided by Rash Behari Ghosh

		  Statement-II: In this session, Congress got divided 
into two groups (Moderates and Extremists)

		  Statement-III: In Congress's Annual Session of 
1916, two groups (Moderates and Extremists) got 
united. This session was presided by S. P. Sinha

	 (a)	 Statement-I, II and III all are true
	 (b)	 Statement-I, II and III all are false
	 (c)	 Statement-I, II are true but Statement-III is 

false
	 (d)	 Statement-I II are false but Statement-III is 

true
	 52.	 Read the following statements and choose the 

correct option:
		  Statement-I : First All India Census was attempted 

in 1871
		  Statement-II : From 1881 onwards decennial 

censuses became a regular feature
		  Statement-III : In forty years from 1900 to 1940, 

urban population increased from 10% of total 
population to 18%

	 (a)	 Statement-I, II, III all are true
	 (b)	 Only Statement-1 is true
	 (c)	 Only Statement-II is true
	 (d)	 Only Statement-III is true
	 53.	 Read the following statements with reference to 

State Reorganization Commission, 1953 and 
choose the correct option:

		  Statement-I : Justice Fazl Ali, K. M. Panikkar and 
Hridaynath Kunzru were its member

		  Statement-II : Commission supported the splitting 
of Bombay and Punjab

		  Statement-III : As per State Reorganization Act, 
1956 passed by Parliament, 14 States and 6 
centrally administered States were made
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mijksDr esa ls dkSu&lk@ dkSu&ls dFku lgh gS@gSa\

	 (a)	 I] II vkSj III
	 (b)	 I vkSj II
	 (c)	 dsoy I
	 (d)	 I vkSj III
	54-	Hkkjr ds iwoZ eq[; U;k;kèkh'k ;'koUr fo".kq pUæpwM+ ds 

laca/ esa dkSu&lk@ dkSu&ls dFku lgh gS@ gSa \
	 	dFku&I % os Hkkjr ds 16osa eq[; U;k;kèkh'k Fks
	 	dFku&II % os vc rd lcls yEch vofèk rd eq[; 

U;k;kèkh'k ds in ij jgus okys O;fDr gSa
		 dFku&III % mudh fu;qfDr uhye lathok jsîóh us dh 

Fkh
mijksDr esa ls dkSu lk @ dkSu&ls dFku lgh gS@ gSa \

	 (a)	 I] II vkSj III
	 (b)	 I vkSj II
	 (c)	 I vkSj III
	 (d)	 dsoy II
	55-	lcls de vofèk ds fy;s Hkkjr ds eq[; U;k;kèkh'k 

dkSu Fks \
	 (a)	 jktsUæ ey yks<+k

	 (b)	 ,l- jktsUæ ckcw

	 (c)	 xksiky cYyo iVuk;d

	 (d)	 dey ukjk;.k flag

	56-	44osa lafoèkku la'kksèku ds laca/ esa D;k lgh ugha gS\
	 (a)	 ;g la'kksèku turk ljdkj (1977&79) }kjk yk;k 

x;k Fkk

	 (b)	 blds rgr 42osa lafoèkku la'kksèku esa cnyko 
fd;k x;k

	 (c)	 bl la'kksèku ds }kjk igyh ckj ;g Li"V fd;k 
x;k fd jk"Vªifr dsanzh; eaf=keaMy ds lq>ko ds 
foijhr dk;Z ugha dj ldrk

	 (d)	 bl la'kksèku ds }kjk jk"Vªifr pkgs rks rc rd 
eaf=keaMy ds lq>ko dks iqufoZpkj ds fy;s Hkst 
ldrk gS tc rd og larq"V ugha gS

	57-	;fn fdUgha dkj.kksa ls Hkkjr ds jk"Vªifr dh vuqifLFkfr 
esa mijk"Vªifr jk"Vªifr in ds dk;ks± dk fuoZgu djrk 
gS] rks ml vofèk ds laca/ esa dkSu&lk@ dkSu&ls dFku 
lgh gS@ gSa\--

	 (i)	 bl vofèk esa mijk"Vªifr jkT; lHkk ds lHkkifr 
cus jgsaxs

	 (ii)	 bl vofèk ds fy;s mijk"Vªifr dks jk"Vªifr dk 
osru feysxk

	 (iii)	 ;fn bl vofèk esa mijk"Vªifr R;kxi=k ns nsrs gSa] 
rks Hkkjr ds eq[; U;k;kèkh'k jk"Vªifr ds in dk 
fuoZgu djsaxsA

		  From the statements given above, which is/are 
true?

	 (a)	 I, II and III
	 (b)	 I and II
	 (c)	 Only I
	 (d)	 I and III
	 54.	 Which of the following statements is/are true about 

previous Chief Justice of India, Yashwant Vishnu 
Chandrachud?

		  Statement-I : He was 16th Chief Justice of India
		  Statement-II : Till date, he is the longest serving 

Chief Justice of India
		  Statement-III : He was appointed by Neelam 

Sanjiva Reddy
		  From the statements given above, which is/are 

true?
	 (a)	 I, II and III
	 (b)	 I and II
	 (c)	 I and III
	 (d)	 Only II
	 55.	 Who was the Chief Justice of India for the shortest 

duration?
	 (a)	 Rajendra Mal Lodha
	 (b)	 S. Rajendra Babu
	 (c)	 Gopal Ballav Pattanaik
	 (d)	 Kamal Narain Singh
	 56.	 What is not true about the 44th Constitutional 

Amendment?
	 (a)	 This amendinent was brought in by Janata 

Government (1977-79)
	 (b)	 With this constitutional amendment, changes 

in 42nd Constitutional Amendment was 
made

	 (c)	 Through this amendment first time it was 
made clear in Constitution that President 
cannot act against the advice of Council of 
Ministers

	 (d)	 As per this amendment President can return 
the advice of Council of Ministers for 
reconsideration as many times as he want 
till he is satisfied

	 57.	 If Vice-President of India has to discharge the 
duties of President of India in his absence due to 
some reasons, then what is / are true for such 
duration ?

	 (i)	 In this duration, Vice-President holds the 
post of Chairman of Council of States

	 (ii)	 In this duration, Vice-President will get the 
emolument of President

	 (iii)	 If in this duration, Vice-President resigns, 
then Chief Justice of India will perform the 
duties of President of India
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	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (ii)

	 (c)	 (ii) vkSj (iii)

	 (d)	 dsoy (i)

	58-	foèks;d ikfjr djus ds fy;s laln dh la;qDr cSBd 
ls lacaf/r fuEu dFkuksa esa ls dkSu&lk@dkSu&ls lgh gS@
gSa\ 

	 (i)	 la;qDr cSBd dk çoèkku lkekU; foèks;d] foÙkh; 
foèks;d rFkk lafoèkku la'kksèku foèks;d ds fy;s 
ekU; gSA

	 (ii)	 fdlh Hkh fLFkfr esa jkT;lHkk dk milHkkifr 
la;qDr lHkk dh vè;{krk ugha dj ldrk gS

	 (iii)	 la;qDr lHkk ds fy;s nksuksa lnuksa ds dqy lnL;ksa 
dk ,d&NBok¡ (1@6th) dh x.kiwfrZ (dksje) 
gksuh pkfg,

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (ii)

	 (c)	 (i) vkSj (iii)

	 (d)	 buesa ls dksbZ ugha

	59-	fuEu esa ls fdl jkT; ls yksdlHkk dh lcls T;knk 
lhVsa vuqlwfpr tutkfr ds fy;s vkjf{kr gSa\

	 (a)	 mÙkj çns'k

	 (b)	 vksfM'kk

	 (d)	 eè; çns'k

	 (c)	 >kj[k.M

	60-	fuEu esa ls dkSu&lh lfefr yksdlHkk ds vèkhu ugha 
vkrh gS\

	 (a)	 lkekftd U;k; ,oa vfèkdkfjrk laca/h lfefr

	 (b)	 'kgjh fodkl laca/h lfefr

	 (c)	 Je laca/h lfefr

	 (d)	 LokLF; ,oa ifjokj dY;k.k laca/h lfefr

	61-	Hkkjrh; lalnh; lewg (IPG) ds lanHkZ esa dkSu&lk @ 
dkSu&ls dFku lgh gS@gSa\

	 (i)	 ;g ,d Lok;Ùk laLFkk ugha gSA

	 (ii)	 laln ds iwoZ lnL; blds lnL; cu ldrs gSa

	 (iii)	 yksdlHkk dk mikè;{k rFkk jkT;lHkk dk 
milHkkifr lewg ds insu (ex-officio) mikè;{k 
gksrs gSa

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (ii)

	 (c)	 dsoy (i)

	 (d)	 dsoy (iii)

	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 (ii) and (iii)
	 (d)	 Only (i)
	 58.	 Which of the following statements is/are true in 

reference to the joint sitting of Parliament for 
passage of bill?

	 (i)	 Provision for joint sitting is applicable for 
ordinary bi l ls ,  f inancial  bi l ls  and 
constitutional amendment bills.

	 (ii)	 In no situation, Deputy Chairman of Rajya 
Sabha can preside over the joint sitting

	 (iii)	 Quorum of 1/6th the total number of 
members of both Houses to be maintained 
for joint sitting

	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 (i) and (iii)
	 (d)	 None of these
	 59.	 From which of the following States, maximum 

number of seats are reserved for Scheduled Tribes 
in Lok Sabha?

	 (a)	 Uttar Pradesh
	 (b)	 Odisha
	 (c)	 Jharkhand
	 (d)	 Madhya Pradesh
	 60.	 Which of the following Committees does not come 

under the jurisdiction of Lok Sabha?
	 (a)	 Committee on Social Justice and 

Empowerment
	 (b)	 Committee on Urban Development
	 (c)	 Committee on Labour
	 (d)	 Committee on Health and Family Welfare
	 61.	 In reference to Indian Parliamentary Group, which 

of the following statements is/are true?
	 (i)	 It is not an autonomous body
	 (ii)	 Former Members of Parliament can become 

its member
	 (iii)	 Deputy Speaker of Lok Sabha and Deputy 

Chairman of Rajya Sabha are its ex-officio 
Vice-Presidents

	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 Only (i)
	 (d)	 Only (iii)
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	62-	fuEu dsanz 'kkflr çns'k dk muds cuus ds o"kZ ds lkFk 
lgh feyku djsa%

		  dsanz 'kkflr çns'k		  ftl o"kZ cuk

	 (a)	 y{k}hi	 (i)	 1961

	 (b)	 neu vkSj nho	 (ii)	 1966

	 (c)	 paMhx<+	 (iii)	 1962

	 (d)	 nknjk vkSj ukxj gosyh	 (iv)	 1956

	63-	Lok;Ùk f”kyk ds lanHkZ esa dkSu&lk@ dkSu&ls lgh gS@gSa\
	 (i)	 çR;sd Lok;Ùk f”kyk ifj"kn~ esa 30 lnL; gksrs gSa

	 (ii)	 Lok;Ùk f”kyk ifj"kn~ ds 24 lnL; ernku ds 
}kjk pqus tkrs gSa rFkk 'ks"k 6 jkT;iky }kjk euksuhr 
gksrs gSa

	 (iii)	 vle ds Lok;Ùk f”kyksa esa Hkkjrh; laln }kjk 
ikfjr dkuwuksa dks funZsf'kr djus dk vfèkdkj 
jkT;iky ds ikl gS

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (iii)

	 (c)	 (i) vkSj (ii)

	 (d)	 dsoy (i)

	64-	foÙk vk;ksx ds lanHkZ esa dkSu&lk@ dkSu&ls lgh gS@gSa\
	 (i)	 vk;ksx esa dqy 5 lnL; gksrs gSa

	 (ii)	 vk;ksx esa de&ls&de ,d lnL; gkbZ dksVZ ;k 
lqçhe dksVZ dk tt gksuk pkfg,

	 (iii)	 vk;ksx dk vè;{k iqu% fu;qDr ugha fd;k tk 
ldrk

	 (iv)	 vk;ksx ds çFke vè;{k ds- lUFkkue Fks

	 (a)	 (i)] (ii) vkSj (iv)

	 (b)	 (i)] (ii) vkSj (iii)

	 (c)	 (i) vkSj (iii)

	 (d)	 dsoy (i)

	65-	fuEu esa ls dkSu&lk esy lgh ugha gS\
	 (a)	 lsUVªy jsyos & eqEcbZ

	 (b)	 osLVuZ jsyos & ppZxsV

	 (c)	 ukWFkZ ÚafV;j jsyos & ç;kxjkt

	 (d)	 lkmFk bLVuZ jsyos & xkMZsu jhp] dksydkrk

	66-	vksyfEiDl & 2020 ds laca/ esa dkSu&lk@ dkSu&ls 
lgh gS@gSa\

	 (i)	 Hkkjr ls 121 f[kykfM+;ksa us vksyfEiDl&2020 
esa fgLlk fy;k

	 (ii)	 Hkkjr ls dq'rh esa DokyhiQkbZ djus okyh efgyk 
f[kykfM+;ksa dh la[;k iq#"k f[kykfM+;ksa ls T;knk 
Fkh

	 62.	 Match the following Union Territori with their 
years of creation :

		  Union Territories	 Years of Creation
	 (a)	 Lakshadweep	 (i)	 1961
	 (b)	 Daman and Diu	 (ii)	 1966
	 (c)	 Chandigarh	 (iii)	 1962
	 (d)	 Dadra and Nagar Haveli	 (iv)	 1956
	 63.	 What is/are true in relation to Autonomous 

Districts?
	 (i)	 Each Autonomous District Council has 30 

members
	 (ii)	 24 members of Autonomous District Council 

are elected via voting and rest 6 are 
nominated by Governor

	 (iii)	 Rights to direct the Acts passed by 
Parliament of India in Autonomous Districts 
of Assam lies with Governor

	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (iii)
	 (c)	 (i) and (ii)
	 (d)	 Only (i)
	 64.	 What is/are true in reference to the Finance 

Commission?
	 (i)	 There are total 5 members in Commission
	 (ii)	 At least one member of Commission must 

be Judge of High Court or Supreme Court
	 (iii)	 The Chairman of Commission cannot be 

reappointed
	 (iv)	 First Chairman of Commission was K. 

Santhanam
	 (a)	 (i), (ii) and (iv)
	 (b)	 (i), (ii) and (iii)
	 (c)	 (i) and (iii)
	 (d)	 Only (i)
	 65.	 Which of the following is not the correct match?
	 (a)	 Central Railway	 -	 Mumbai
	 (b)	 Western Railway	 -	 Churchgate
	 (c)	 North Frontier Railway	 -	 Prayagraj
	 (d)	 South Eastern Railway 	 -	 Garden Reach, 
				    Kolkata
	 66.	 In relation to Olympics-2020, what is/are correct?
	 (i)	 From India 121 players participated in 

Olympics-2020
	 (ii)	 From India number of female players 

qualified in wrestling was more than male 
players
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	 (iii)	 Hkkjr us dqy 18 [ksyksa esa Hkkx fy;k

	 (a)	 (i)] (ii) vkSj (iii)

	 (c)	 (i) vkSj (ii)

	 (b)	 (i) vkSj (iii)

	 (d)	 dsoy (i)

	67-	fuEu Vsful VqukZesUV~l dks muds çkjaEHk gksus ds o"kZ dk 
dkyØec¼ esa ltk,¡ (tks lcls igys 'kq: gqvk] og 
lcls igys vk,xk) %

	 (a)	 Úsap vksisu] foEcyMu] ;w-,l- vksisu] vkWLVªsfy;u 
vksisu

	 (b)	 foEcyMu] Úsap vksisu] ;w-,l- vksisu] vkWLVªsfy;u 
vksisu

	 (c)	 foEcyMu] ;w-,l- vksisu] Úsap vksisu] vkWLVªsfy;u 
vksisu

	 (d)	 vkWLVªsfy;u vksisu] Úsap vksisu] foEcyMu] ;w-
,l- vksisu

	68-	GNU vkWijsfVax flLVe ds laca/ esa D;k lgh ugha gS\

	 (a)	 bldk iQqy iQkWeZ 'GNU's Not Unix' gS

	 (b)	 bldh 'kq#vkr fjpMZ LVkyeSu us dh Fkh

	 (c)	 ;g ,d vksisu lkslZ lkWÝVos;j gS

	 (d)	 ;g Unix ds lkFk dkWEiSfVcy ugha gS

	69-	fMLVªhC;wVsM fMuk;y vkWiQ lfoZl (DDoS) vVSd D;k 
gS \

	 (a)	 ,d dEI;wVj xse

	 (b)	 ,d lkbcj vVSd

	 (c)	 ,d fefyVªh vVSd flLVe

	 (d)	 buesa ls dksbZ ugha

	70-	NavIC dk iQqy iQkWeZ gS % 

	 (a)	 usfoxs'ku fonkmV baVjus'kuy daVªksy

	 (b)	 usfoxs'ku fon bafM;u dkWULVhys'ku

	 (c)	 usfoxs'ku fon bafM;u dksLVy

	 (d)	 usfoxs'ku fon bafM;u dksvkijs'ku

	71-	vko`fÙk ekWM~;wys'ku (FM) jsfM;ks osOl ds ckjs esa D;k 
lgh ugha gS\

	 (a)	 vko`fÙk ekM~;wys'ku dh vko`fÙk jsat vk;ke 
ekM~;wys'ku (AM) ls de gksrh gS

	 (b)	 blesa vk;ke vkSj dyk ugha cnyrh

	 (c)	 bldk vfo"dkj ,Mfou vkeZLVªkax us fd;k Fkk

	 (d)	 bldh cSUMfoM~Fk vk;ke ekM~;wys'ku ls T;knk 
gksrh gSA

	 (iii)	 India participated in total 18 sports

	 (a)	 (i), (ii) and (iii)

	 (b)	 (i) and (iii)

	 (c)	 (i) and (ii)

	 (d)	 Only (i)

	 67.	 Arrange the following Tennis Tournaments in 
chronological order of their starting years (one 
which started earliest, will come first) :

	 (a)	 French Open, Wimbledon, US Open, 
Australian Open

	 (b)	 Wimbledon, French Open, US Open, 
Australian Open

	 (c)	 Wimbledon, US Open, French Open, 
Australian Opener

	 (d)	 Australian Open, French Open, Wimbledon, 
US Open

	 68.	 What is not true about GNU operating system?
	 (a)	 Its full form is 'GNU's Not Unix'

	 (b)	 It was started by Richard Stallman

	 (c)	 It's an open source software

	 (d)	 It is not compatible with Unix

	 69.	 What is Distributed Denial of Service (DDoS) 
attack?

	 (a)	 A computer game

	 (b)	 A cyber attack

	 (c)	 A millitary attack system

	 (d)	 None of these

	 70.	 Full form of NavIC is :
	 (a)	 Navigation without International Control

	 (b)	 Navigation with Indian Constellation

	 (c)	 Navigation with Indian Coastal

	 (d)	 Navigation with Indian Cooperation

	 71.	 What is not true about FM (Frequency Modulation) 
radio waves ?

	 (a)	 Frequency range of Frequency Modulation 
is lower than that of Amplitude Modulation

	 (b)	 Amplitude and phase do not change in it

	 (c)	 It was invented by Edwin Armstrong

	 (d)	 Its bandwidth is higher than that of 
Amplitude Modulation
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	72-	pUæ;ku&2 vfHk;ku ds laca/ esa D;k lgh ugha gS \
	 (a)	 bldh LohÑfr çèkkuea=kh eueksgu flag us nh Fkh

	 (b)	 blesa Hksts x, jksoj dk uke çKku Fkk

	 (c)	 bl vfHk;ku esa pUæek ds mÙkjh èkzqo dks vUos"k.k 
ds fy;s yf{kr fd;k x;k

	 (d)	 bl vfHk;ku esa foØe ySaMj dk bLrseky fd;k 
x;k

	73-	o;Ldksa dks nh tkus okyh dksfo'khYM oSDlhu ds çR;sd 
Mkst dh ek=kk fdruh gksrh gS\

	 (a)	 1ml

	 (b)	 2ml

	 (c)	 0-5ml

	 (d)	 1-5ml

	74-	fuEu esa ls dkSu&lk@ dkSu&ls lgh gS@gSa\
	 (i)	 xyoku unh dk uke xqyke jlwy xyoku ds uke 

ij iM+k

	 (ii)	 xqyke jlwy xyoku ,d yík[kh [kkstdrkZ FksA

	 (iii)	 mUgksaus ̂ loZsUV~l vkWiQ lkfgCl* uked ,d vaxzsth 
iqLrd fy[kh

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (ii)

	 (c)	 (i) vkSj (iii)

	 (d)	 dsoy (i)

	75-	Hkkjr vkSj iqrZxky dh ljdkj us Hkkjr esa jk"Vªh; leqæh 
fojklr ifjlj fodflr djus ds fy;s le>kSrk Kkiu 
ij gLrk{kj fd;k gSA bls dgk¡ fodflr fd;k tk,xk\

	 (a)	 psUubZ] rfeyukMq

	 (b)	 dUuwj] dsjy

	 (c)	 iky?kj] egkjk"Vª

	 (d)	 yksFky] xqtjkr 2030

	76-	phiQ vkWiQ fMiQsUl LVkiQ ds lanHkZ esa D;k lgh ugha 
gS\ 

	 (a)	 bl in ds fy;s vfèkdre mez lhek 65 o"kZ gS

	 (b)	 og phiQ vkWiQ LVkWiQ dfeVh dk LFkk;h vè;{k 
gksrk gSA

	 (c)	 og j{kk vfèkxzg.k ifj"kn~ dk vè;{k gksrk gS

	 (d)	 og j{kk ;kstuk lfefr dk lnL; gksrk gSA

	77-	fuEu dFkuksa dks i<+dj lgh fodYi pqusa%
	 (i)	 xatke foæksg 1800 ls 1805 bZ- esa gqvk

	 (ii)	 xatke foæksg dk usr`Ro èkuat; us fd;k

	 (iii)	 xqelqj dk foæksg dk usr`Ro Jhdj Hkat us fd;k

	 (iv)	 èkuat;] Jhdj Hkat ds firk Fks

	 72.	 What is not true about Chandrayaan-2 Mission?
	 (a)	 It was approved by Prime Minister 

Manmohan Singh
	 (b)	 Rover sent in this mission was named 

Pragyan
	 (c)	 In this mission Lunar North Pole was 

targetted for exploration
	 (d)	 Vikram Lander was used in this mission
	 73.	 What is the volume of each dose of Covishield 

Vaccine given to adults?
	 (a)	 1ml
	 (b)	 2ml
	 (c)	 0.5ml
	 (d)	 1.5ml
	 74.	 What is/are correct among the following ?
	 (i)	 Galwan river was named after Ghulam 

Rassul Galwan
	 (ii)	 Ghulam Rassul Galwan was a Laddakhi 

explorer
	 (iii)	 He wrote a book in English named Servants 

of Sahibs'
	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 (i) and (iii)
	 (d)	 Only (i)
	 75.	 Governments of India and Portugal have signed a 

memorandum of understanding to develop a 
National Maritime Heritage Complex in India. This 
will be developed where?

	 (a)	 Chennai, Tamil Nadu
	 (b)	 Kannur, Kerala.
	 (c)	 Palghar, Maharashtra
	 (d)	 Lothal, Gujarat
	 76.	 What is not true in reference to Chief of Defence 

Staff?
	 (a)	 Maximum age limit for this post is 65 years
	 (b)	 He is permanent Chairman of Chief of Staff 

Committee 	
	 (c)	 He is Chairman of Defence Acquisition 

Council
	 (d)	 He is member of Defence Planning 

Committee
	 77.	 Read the following statements and choose the 

correct option:
	 (i)	 Ganjam Revolt occurred during AD 1800 to 

1805
	 (ii)	 Ganjam Revolt was led by Dhananjaya 
	 (iii)	 Revolt of Gumsur was led by Shrikar Bhanja
	 (iv)	 Dhananjay was father of Shrikar Bhanja
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mijksDr esa ls dkSu&lk@ dkSu&ls dFku lgh gS@gSa\

	 (a)	 (i)] (ii) vkSj (iii)

	 (c)	 (i) vkSj (ii)

	 (b)	 (i)] (ii) vkSj (iv)

	 (d)	 dsoy (i)

	 78-	Hkkjrh; ifj"kn~~ vfèkfu;e (1861) ds laca/ esa fuEu 
dFkuksa dks i<+dj lgh fodYi pqusa% 

	 (i)	 bl vfèkfu;e ds iQyLo:i xouZj tujy dh 
dk;Zikfydk ifj"kn~~ esa dqy lnL;ksa dh la[;k 7 
gks xbZ

	 (ii)	 fofèk fuekZ.k ds fy;s vfrfjDr lnL;ksa dh la[;k 
de&ls&de 6 vkSj vfèkd&ls&vfèkd 12 dj 
nh xbZ

	 (iii)	 çkarh; vkSj dsanzh; fo"k;ksa esa fdlh rjg dk 
HksnHkko ugha j[kk x;k

mijksDr esa ls dkSu&lk@ dkSu&ls dFku lgh gS@gSa\

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (ii) vkSj (iii)

	 (c)	 (i) vkSj (iii)

	 (d)	 dsoy (i)

	79-	Hkkjrh; ifj"kn~ vfèkfu;e] 1892 ds laca/ esa fuEu 
dFkuksa dks i<+dj lgh fodYi pqusa

	 (i)	 bls 20 twu] 1892 dks ykxw fd;k x;k

	 (ii)	 dqy 24 lnL;ksa esa ls xSj&ljdkjh lnL;ksa dh 
la[;k 5 Fkh

	 (iii)	 lnL;ksa dks iwjd ç'u iwNus dk vfèkdkj fn;k 
x;k

mijksDr esa ls dkSu&lk@ dkSu&ls dFku lgh gS@gSa\

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (ii)

	 (c)	 (i) vkSj (iii)

	 (d)	 dsoy (ii)

	80-	fuEu dFkuksa dks i<+dj lgh fodYi dk pquko djsa %
	 	dFku&I % ts- Mh- Mkuk us Hkkjrh; miegk}hi ds pV~Vkuksa 

ds HkwxHkh; bfrgkl ds fy;s ,d fo'ks"k HkwxfHkZd le; 
ekid rS;kj fd;k

	 	dFku&II % HkwxfHkZd le; ekid ds vuqlkj Hkkjrh; 
pV~Vkuksa dks vkfdZ;u] ikSjkf.kd] æfoM+;u rFkk vk;Zu 
;qx esa foHkkftr fd;k tkrk gS

	 (a)	 dFku&I ,oa dFku&II nksuksa lR; gSa

	 (b)	 dFku&I ,oa dFku&II nksuksa vlR; gSa

	 (c)	 dFku&I lR; gS ijarq dFku&II vlR; gS

	 (d)	 dFku&I vlR; gS ijarqq dFku&II lR; gSa

		  Which of the above statements is/are true?
	 (a)	 (i), (ii) and (iii)
	 (b)	 (i), (ii) and (iv)
	 (c)	 (i) and (ii)
	 (d)	 Only (i)
	 78.	 Read the following statements with reference to 

the Indian Councils Act (1861) and choose the 
correct option

	 (i)	 As a result of this Act, total members of 
Executive Council of Governor General 
became 7

	 (ii)	 For legislative work, number of additional 
members could be minimum of 6 and 
maximum of 12

	 (iii)	 No differentiation was made between State 
and Central subjects

		  Which of the above statements is/are true?
	 (a)	 (i), (ii) and (iii)
	 (b)	 (ii) and (iii)
	 (c)	 (i) and (iii)
	 (d)	 Only (i)
	 79.	 Read the following statements with respect to the 

Indian Councils Act, 1892 and choose the correct 
option:

	 (i)	 It was implemented on 20th June, 1892
	 (ii)	 Out of total 24 members, 5 were non-

government members
	 (iii)	 Members were given rights to ask 

supplementary questions
		  Which of the above statements is/are true?
	 (a)	 (i), (ii) and (iii)
	 (b)	 (i) and (ii)
	 (c)	 (i) and (iii)
	 (d)	 Only (ii)
	 80.	 Read the following statements and choose the 

correct option :
		  Statement-I : J. D. Dana prepared a special 

Geological Time Scale to indicate the geological 
history of Indian subcontinent rocks

		  Statement-II : As per Geological Time Scale, 
Indian rocks are subdivided into Archean Puranic, 
Dravidian and Aryan period

	 (a)	 Statement-I and Statement-II both are true
	 (b)	 Statement-I and Statement-II both are false
	 (c)	 Statement-1 is true but Statement-II is false
	 (d)	 Statement-I is false but Statement-II is true
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	81-	fn, x, ;qxksa ds lgh dkyØec¼ dks pqusa] tks lcls 
iqjkuk gS] og lcls igys vk,xk

	 (a)	 gksyksflu > IykLVksflu Iyk;ksflu >ek;ksflu > 
b;ksflu

	 (b)	 b;ksflu > ek;ksflu > Iyk;ksflu > IykLVksflu 
> gksyksflu

	 (c)	 b;ksflu > ek;ksflu > IykLVksflu > Iyk;ksflu 
> gksyksflu

	 (d)	 gksyksflu Iyk;ksflu > IykLVksflu >ek;ksflu > 
b;ksflu

	82-	fuEufyf[kr HkwxfHkZd fojklr LFky dks muds LFkku ls 
lgh feyku djsa

		  HkwxfHkZd fojklr LFky		  LFkku

	 (a)	 jk"Vªh; dk"B thok'e ikdZ	(i)	 cqy<k.kk

	 (b)	 f'kokfyd ikdZ	 (ii)	 fpÙkkSjx<+

	 (c)	 LVªksesVksykbV ikdZ	 (iii)	 fr#fpjkiYyh

	 (d)	 yksukj >hy	 (iv)	 fljekSj
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iv)	 (iii)	 (ii)	 (i)

	 (c)	 (iii)	 (iv)	 (ii)	 (i)

	 (d)	 (iii)	 (ii)	 (iv)	 (i)

	83-	fuEu dFkuksa ds vkèkkj ij lgh fodYi dk pquko djsa

	 	dFku&I % IysV foorZfudh (Plate Tectonics) dk 
fl¼kUr 1967 esa H. H. Hess us fn;k Fkk

	 	dFku&II % IysV foorZfudh fl¼kUr leqæ ry foLrkj.k 
fl¼kUr ij vkèkkfjr gS

	 (a)	 dFku&I ,oa dFku&II nksuksa lR; gSa

	 (b)	 dFku&I ,oa dFku&II nksuksa vlR; gSaA

	 (c)	 dFku&I lR; gS ijarqq dFku&II vlR; gS

	 (d)	 dFku&I vlR; gS ijarqq dFku&II lR; gS

	84-	fuEufyf[kr fgeunh dks mudh yEckbZ ds ?kaVrs Øe esa 
ltk,¡ %

	 (a)	 fcvkiQks > fgLij > lksukikuh > ckjk f'kxjh > 
ækax nwax

	 (b)	 fgLij > ækax nqax > fcvkiQks > lksukikuh > ckjk 
f'kxjh

	 (c)	 fgLij > fcvkiQks > ækax nwax > lksukikuh > ckjk 
f'kxjh

	 (d)	 fcvkiQks > fgLij > ckjk f'kxjh lksukikuh > 
ækax nwax

	 81.	 Choose the correct chronological order of given 
Epochs, oldest one will come first:

	 (a)	 Holocene > Pleistocene > Pliocene > 
Miocene > Eocene)

	 (b)	 Eocene > Miocene > Pliocene > Pleistocene 
> Holocene

	 (c)	 Eocene > Miocene > Pleistocene > Pliocene 
> Holocene

	 (d)	 Holocene > Pliocene > Pleistocene > 
Miocene > Eocene

	 82.	 Match the following geological heritage sites with 
their locations :

		  Geological		  Locations
		  Heritage Sites
	 (a)	 National Fossil	 (i)	 Buldhana
		  Wood Park
	 (b)	 Shivalik Park	 (ii)	 Chittaurgarh
	 (c)	 Stromatolite Park	 (iii)	 Tiruchirappalli
	 (d)	 Lonar Lake	 (iv)	 Sirmaur
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iv)	 (iii)	 (ii)	 (i)

	 (c)	 (iii)	 (iv)	 (ii)	 (i)

	 (d)	 (iii)	 (ii)	 (iv)	 (i)
	 83.	 Based on following statements choose the correct 

option:
		  Statement-I : Theory of Plate Tectonics was given 

by H. H. Hess in 1967
		  Statement-II : Theory of Plate Tectonics is based 

on Theory of Seafloor Spreading
	 (a)	 Statement-I and Statement-II both are true
	 (b)	 Statement-I and Statement-II both are false
	 (c)	 Statement-I is true but Statement-II is false
	 (d)	 Statement-I is false but Statement-II is true
	 84.	 Arrange the following glaciers in decreasing order 

of their lengths :
	 (a)	 Biafo > Hispar > Sonapani > Bara Shigri > 

Drang Drung
	 (b)	 Hispar > Drang Drung > Biafo > Sonapani 

> Bara Shigri
	 (c)	 Hispar > Biafo > Drang Drung > Sonapani 

> Bara Shigri
	 (d)	 Biafo > Hispar> Bara Shigri > Sonapani > 

Drang Drung
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	85-	fuEufyf[kr jkT;ksa dks ogk¡ fufeZr cM+s ck¡èkksa dh la[;k 
ds vkèkkj ij ?kVrs Øe esa ltkb, %

	 (a)	 eè; çns'k > xqtjkr > jktLFkku > rsykaxkuk > 
vkaèkz çns'k

	 (b)	 xqtjkr > eè; çns'k > jktLFkku > vkaèkz çns'k 
> rsykaxkuk

	 (c)	 xqtjkr > eè; çns'k > jktLFkku > rsykaxkuk > 
vkaèkz çns'k

	 (d)	 eè; çns'k > xqtjkr > rsykaxkuk > jktLFkku > 
vkaèkz çns'k

	86-	;w- ,u- ,iQ- lh-lh- COP26 vfèkos'ku esa Hkkjr }kjk 
nh x;h çfrc¼rk ds lanHkZ esa D;k lgh ugha gS\

	 (a)	 Hkkjr 2030 rd dkcZu mRltZu esa ,d fcfy;u 
Vu rd dh deh djsxk

	 (b)	 Hkkjr 2030 rd viuh ÅtkZ t:jrksa dk 60 
çfr'kr iwfrZ v{k; ÅtkZ esa djsxk

	 (c)	 Hkkjr 2030 rd viuh xSj&thok'e ÅtkZ {kerk 
dks 500 xhxkokV rd c<+k ysxk

	 (d)	 mijksDr esa ls dksbZ ugha

	87-	fuEufyf[kr O;fDr;ksa dks muds {ks=k ds lkFk lqesfyr 
dhft, ftlesa mUgsa in~eJh&2021 iqjLdkj çnku fd;k 
x;k gS% 

	 	 lwph&I		  lwph&II
	 (a)	 lqthr pV~Vksikè;k;	 (i)	 dyk

	 (b)	 lqf=ke pksUtksj	 (ii)	 lkoZtfud ekeys

	 	 	 	 (ifCyd viQs;lZ)

	 (c)	 iw.kZeklh tkuh	 (iii)	 lkfgR; ,oa f'k{kk

	 (d)	 fctks;k pØorhZ	 (iv)	 lekt dk;Z
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iii)	 (iv)	 (i)	 (ii) 
	 (c)	 (i)	 (iii)	 (iv)	 (ii)
	 (d)	 (iii)	 (i)	 (iv)	 (ii)
	88-	^mfpr vkSj ykHkdkjh ewY;* fuEu esa ls fdl iQly ls 

lacaf/r gS\
	 (a)	 xUuk

	 (b)	 èkku

	 (c)	 frygu

	 (d)	 xsgw¡

	 89-	Fkksd ewY; lwpdkad (WPI) dks x.kuk esa fofufeZr 
mRikn dk egRo (çfr'kr esa) fdruk gS\

	 (a)	 62-43»

	 (b)	 64-23»

	 (c)	 63-43»

	 (d)	 60-23»

	 85.	 Arrange the following States in descending order 
with respect to number of large dams constructed 
there :

	 (a)	 Madhya Pradesh > Gujarat > Rajasthan > 
Telangana > Andhra Pradesh

	 (b)	 Gujarat > Madhya Pradesh > Rajasthan > 
Andhra Pradesh > Telangana

	 (c)	 Gujarat > Madhya Pradesh > Rajasthan > 
Telangana > Andhra Pradesh

	 (d)	 Madhya Pradesh > Gujarat > Telangana > 
Rajasthan > Andhra Pradesh

	 86.	 What is not true about commitment made by India 
at UNFCC COP26 Conference?

	 (a)	 By 2030, India will reduce its carbon 
emission by one billion tons

	 (b)	 By 2030, India will meet 60% of its total 
energy requirement by renewable energy

	 (c)	 By 2030, India will increase its non-fossil 
energy capacity to 500 gigawatts

	 (d)	 None of the above
	 87.	 Match the following personalities with their fields 

in which they have been awarded Padma Shri-
2021:

		  List-I		  List-II
	 (a)	 Sujit Chattopadhyay	 (i)	 Art
	 (b)	 Tsultrim Chonjor	 (ii)	 Public Affairs
	 (c)	 Purnamasi Jani	 (iii)	 Literature and 	

		  Education
	 (d)	 Bijoya Chakravarty	 (iv)	 Social Work
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)

	 (b)	 (iii)	 (iv)	 (i)	 (ii) 

	 (c)	 (i)	 (iii)	 (iv)	 (ii)

	 (d)	 (iii)	 (i)	 (iv)	 (ii)
	 88.	 'Fair and Remunerative Price' is related to which 

of the following crops?
	 (a)	 Sugarcane
	 (b)	 Paddy
	 (c)	 Oilseeds
	 (d)	 Wheat sop
	 89.	 What is the weightage (in percent) of manufactured 

products in calculation of Wholesale Price Index 
(WPI ) ?

	 (a)	 62.43%
	 (b)	 64.23%
	 (c)	 63.43%
	 (d)	 60.23%
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	90-	vUrjkZ"Vªh; eqæk dks"k (IMF) esa Hkkjr dk fo'ks"k vkgj.k 
vfèkdkj çfr'kr ,oa oksV dk çfr'kr Øe'k% fdruk 
gS\

	 (a)	 2-75»] 2-63»

	 (b)	 2-63»] 2-75»

	 (c)	 2-36»] 2-75»

	 (d)	 2-36»] 2-57»

	91-	vkfFkZd loZs{k.k 2020&21 ds vuqlkj fuEu jkT;ksa dks 
nqXèk mRiknu ds vkèkkj ij ?kVrs Øe esa ltk,¡ %

	 (a)	 xqtjkr > eè; çns'k > iatkc > gfj;k.kk
	 (b)	 eè; çns'k > xqtjkr > iatkc > gfj;k.kk
	 (c)	 xqtjkr > iatkc > eè; çns'k > gfj;k.kk
	 (d)	 eè; çns'k > xqtjkr > gfj;k.kk > iatkc
	92-	ok;jl ds lanHkZ esa D;k lgh ugha gS\
	 (a)	 ok;jl (Virus) 'kCn ,d Mp ekbØksck;ksykWftLV 

,e- MCyw- cstsfjUd dk fn;k gqvk gS

	 (b)	 ok;jl dk U;wfDyd ,flM thukse RNA vFkok 
DNA vkèkkfjr gks ldrk gSA

	 (c)	 DNA vkèkkfjr ok;jl vfèkdka'kr% flaxy LVªsUMsM 
gksrk gS

	 (d)	 RNA vkèkkfjr ok;jl DNA vkèkkfjr ok;jl 
dh rqyuk esa vfèkd vkuqoaf'kd ifjorZu 
(E;wVs'ku) djrs gSa

	 93-	Ñf"k tux.kuk (2015–16) ds lanHkZ esa dkSu&lk@ dkSu&ls 
lgh gS@gSa

	 (i)	 y?kq vkSj lhekar fdlku dqy fdlkuksa dk 86-2 
çfr'kr gSa tcfd os dsoy 47-3 çfr'kr iQly 
{ks=kksa (dqy iQly {ks=k dk) ds ekfyd gSaA

	 (ii)	 jkT;oj Ñ"kdksa dh dqy la[;k ds vkèkkj ij 
egkjk"Vª rhljs LFkku ij gS

	 (iii)	 	jkT;oj dqy tksrh xbZ Hkwfe {ks=kiQy ds vkèkkj 
ij jktLFkku çFke LFkku ij gSA

	 (a)	 (i)] (ii) vkSj (iii)
	 (b)	 (i) vkSj (iii)
	 (c)	 (i) vkSj (ii)
	 (d)	 dsoy (i)
	94-	fuEu esa ls fdu ifjfLFkfr;ksa esa ,d daVsuj esa Hkjs gq, 

dkcZu MkbZvkWDlkbM ds v.kqvksa ds chp dh nwjh c<+sxh\
	 (i)	 daVsuj dk vk;ru c<+kus ij

	 (ii)	 daVsuj ls dqN dkcZu MkbZvkWDlkbM xSl yhd 
gksus ij

	 (iii)	 daVsuj ds vUnj gok dk ncko c<+kus ls

	 (iv)	 daVsuj ds vkdkj esa fcuk cnyko fd, vkSj 
dkcZu MkbZvkWDlkbM xSl Mkyus ij

	 90.	 What are the special drawing rights percentage and 
vote percentage respectively of India in 
International Monetary Fund (IMF)?

	 (a)	 2.75%, 2.63%
	 (b)	 2.63%, 2.75%
	 (c)	 2,36%, 2.75%
	 (d)	 2.36%, 2.57%
	 91.	 As per Economic Survey 2020-21, arrange the 

following States in decreasing order of milk 
production :

	 (a)	 Gujarat > Madhya Pradesh > Punjab > 
Haryana

	 (b)	 Madhya Pradesh > Gujarat > Punjab > 
Haryana

	 (c)	 Gujarat > Punjab > Madhya Pradesh > 
Haryana

	 (d)	 Madhya Pradesh Gujarat > Haryana > 
Punjab

	 92.	 What is not true about virus?
	 (a)	 Virus  te rm was  co ined  by  Dutch 

microbiologist M. W. Beijerinck
	 (b)	 Nucleic acid genome of virus can be DNA 

or RNA-based
	 (c)	 DNA-based viruses are usually single-

stranded
	 (d)	 RNA-based viruses accumulate more genetic 

changes (mutations) as compared to DNA-
based viruses

	 93.	 What is/are true in reference to Agriculture Census 
(2015-16)?

	 (i)	 Small and marginal farmers are 86.2% of 
total farmers whereas they hold only 47.3% 
of farm land (out of total farm land)

	 (ii)	 Statewise, based on total number of farmers, 
Maharashtra is at third position

	 (iii)	 Statewise, based on total farmed land area, 
Rajasthan at first position

	 (a)	 (i), (ii) and (iii)	 (b)	 (i) and (iii)
	 (c)	 (i) and (ii)
	 (d)	 Only (i)
	 94.	 In which of the following conditions distance 

between molecules of carbon dioxide filled in a 
container may increase?

	 (i)	 On increasing the volume of container
	 (ii)	 On leakage of some carbon dioxide gas from 

the container
	 (iii)	 On increasing air pressure in the container
	 (iv)	 On adding more carbon dioxide gas in 

container without changing its size
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	 (a)	 (ii) vkSj (iii)

	 (b)	 (iii) vkSj (iv)

	 (c)	 (i) vkSj (iii)

	 (d)	 (i) vkSj (ii)

	95-	fdlh èofu rjax dh vkòfÙk 4 kHz vkSj mldh rjaxnS?;Z 

35 lseh- gS] rks og 3 fdeh- nwjh r; djus esa fdruk 

le; ysxh\

	 (a)	 21-4 lsd.M

	 (b)	 2-14 lsd.M

	 (c)	 12-4 lsd.M

	 (d)	 1-24 lsd.M

	 96-	Xywdkst ds fo[kaMu ds lanHkZ esa dkSu&lk@dkSu&ls dFku 

lgh gS@gSa\

	 (i)	 dksf'kdk æO; esa Xywdkst pkj dkcZu v.kq okys 

ik;#osV esa fo[kafMr gksrk gS

	 (ii)	 vkWDlhtu ds vHkko esa ik;#osV ySfDVd ,flM 

ds :i esa ifjofrZr gksrk gS

	 (iii)	 vkWDlhtu dh vuqifLFkfr esa ik;#osV dkcZu 

MkbZvkWDlkbM vkSj bFksukWy ds :i esa ifjofrZr 

gksrk gSA

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (iii)

	 (c)	 (ii) vkSj (iii)

	 (d)	 dsoy (iii)

	97-	mn;fxfj vkSj [kkaMfxfj xqiQkvksa ds lanHkZ esa dkSu&lk@ 

dkSu&ls lgh gS@gSa\

	 (i)	 blesa çkÑfrd vkSj Ñf=ke nksuksa rjg dh xqiQk,¡ gSa

	 (ii)	 mn;fxfj esa 18 rFkk [kkaMfxfj esa 15 xqiQk,¡ gSa

	 (iii)	 [kkaMfxfj xqiQk,¡ gkFkhxqiQk f'kykys[k ds fy;s 

çfl¼ gSa

	 (a)	 (i)] (ii) vkSj (iii)

	 (b)	 (i) vkSj (iii)

	 (c)	 (i) vkSj (ii)

	 (d)	 dsoy (i)

	98-	^fo'kqf¼eXx* ds jpf;rk dkSu gSa\

	 (a)	 ukxktZqu

	 (b)	 in~elEHko

	 (c)	 olqcUèkq

	 (d)	 cq¼?kkslk

	 (a)	 (ii) and (iii)

	 (b)	 (iii) and (iv)

	 (c)	 (i) and (iii)

	 (d)	 (i) and (ii)

	 95.	 A sound wave has frequency of 4 kHz and its 
wavelength is 35 cm, then how much time will it 
take to travel a distance of 3 km?

	 (a)	 21.4 sec

	 (b)	 2.14 sec

	 (c)	 12.4 sec

	 (d)	 1.24 sec

	 96.	 Which of the following statements is/are true in 
reference to break-down of glucose?

	 (i)	 In cytoplasm, glucose breaks down into 
pyruvate which has four carbon molecules

	 (ii)	 Due to lack of oxygen, pyruvate gets 
converted to lactic acid

	 (iii)	 In absence of oxygen, pyruvate gets 
converted to carbon dioxide and ethanol

	 (a)	 (i), (ii) and (iii)

	 (b)	 (i) and (iii)

	 (c)	 (ii) and (iii)

	 (d)	 Only (iii)

	 97.	 What is/are correct in reference to Udayagiri and 
Khandagiri caves?

	 (i)	 It has both natural and artificial caves

	 (ii)	 Udayagiri has 18 and Khandagiri has 15 
caves

	 (iii)	 Khandagi r i  caves  are  famous  for 
Hathigumpha inscription

	 (a)	 (i), (ii) and (iii)

	 (b)	 (i) and (iii)

	 (c)	 (i) and (ii)

	 (d)	 Only (i)

	 98.	 Who is the author of 'Visuddhimagga'?

	 (a)	 Nagarjuna

	 (b)	 Padmasambhav

	 (c)	 Vasubandhu

	 (d)	 Buddhaghosa
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	99-	^ijeohj pØ* ohjrk iqjLdkj ds laca/ esa D;k lgh gS\

	 (a)	 ;g iqjLdkj fdlh O;fDr dks iwjs thoudky esa 
dsoy ,d ckj gh fn;k tk ldrk gS

	 (b)	 blds ind ij ^bUæ otz* dh pkj çfrÑfr 
vafdr gksrh gS

	 (c)	 31 fnlEcj] 2021 rd 25 yksxksa dks ijeohj 
pØ çnku fd;k tk pqdk gS

	 (d)	 bl iqjLdkj dks 26 tuojh] 1952 dks LFkkfir 
fd;k x;k

	100-	fuEu d<+kbZ dykvksa dk muls lacaf/r jkT; ls lqesy 
dhft,%

		  d<+kbZ dyk		 jkT;

	 (a)	 iQqYdkjh	 (i)	dukZVd

	 (b)	 èkjfu;k	 (ii)	iatkc

	 (c)	 dlqVh	 (iii)	jktLFkku

	 (d)	 djpksch	 (iv)	xqtjkr
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (ii)	 (iv)	 (iii)	 (i)

	 (c)	 (i)	 (iii)	 (ii)	 (iv)

	 (d)	 (ii)	 (iv)	 (i)	 (iii)

	 99.	 What is true about gallantry award 'Param Vir 
Chakra'?

	 (a)	 This award can be given to an individual 
only once in his/her lifetime

	 (b)	 On its medal, four replicas of 'Indra Vajra' 
are embossed

	 (c)	 Till 31st December, 2021, 25 people have 
been awarded with Param Vir Chakra

	 (d)	 This award was instituted on 26th January, 
1952

	100.	 Match the following embroidery arts with their 
related States :

		  Embroidery Arts		  States
	 (a)	 Phulkari	 (i)	 Karnataka
	 (b)	 Dharaniya	 (ii)	 Punjab
	 (c)	 Kasuti	 (iii)	 Rajasthan
	 (d)	 Karchobi	 (iv)	 Gujarat
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (ii)	 (iv)	 (iii)	 (i)

	 (c)	 (i)	 (iii)	 (ii)	 (iv)

	 (d)	 (ii)	 (iv)	 (i)	 (iii)


